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PART – I ¼¼¼¼HkkxHkkxHkkxHkkx – I½½½½ 
MENTAL ABILITY TEST 

ckSf)dckSf)dckSf)dckSf)d    ;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k 
  Questions : 1 to 50 

1. Select the correct combination of 

numbers so that letters arranged 

accordingly will form a meaningful 

word.  

N  S  G  R  E  I 

5   4   3  2  1  0 

(1) 0 2 5 3 1 4  (2) 3 1 5 4 0 2 

(3) 5 0 4 2 3 1  (4) 4 0 5 3 1 2 

  
1. vadksa dk og lgh Øe pqfu, ftlds vuqlkj 

v{kjksa dks O;ofLFkr djus ls ,d lkFkZd 'kCn 
cu tk,xkA 
 

N  S  G  R  E  I 

5   4   3  2  1  0 

(1) 0 2 5 3 1 4  (2) 3 1 5 4 0 2 

(3) 5 0 4 2 3 1  (4) 4 0 5 3 1 2 

2. In a certain code language, 

DIAMOND is written as EMPLBHE. 

How will ROUTINE be written in 

that code language ?  

(1) FMJSVNS (2) FOJUVPS 

(3) FMJVSSN (4) SNVSJMF 

  
2. ;fn ,d dwV Hkk"kk esa DIAMOND dks 

EMPLBHE fy[kk tkrk gS] rks ml dwV 
Hkk"kk esa ROUTINE dks fdl izdkj fy[kk 
tk,xk \ 

(1) FMJSVNS (2) FOJUVPS 

(3) FMJVSSN (4) SNVSJMF    

3. In certain code language GUIDE is 

written as  and MARCH is 

written as @ + $ ∇∇∇∇%. How will 

DIAGRAM be written in same code 

language ? 

(1)  

(2)  

(3)  

(4)  

  
3. ,d fo'ks"k dwV Hkk"kk esa GUIDE dks 

 fy[kk tkrk gS vkSj MARCH 
dks @ + $ ∇∇∇∇% fy[kk tkrk gSA blh dwV Hkk"kk 
esa DIAGRAM dks fdl izdkj fy[kk 
tk,xk \ 

(1)  

(2)  

(3)  

(4)  
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4. If MY = 16, SUN = 27 then HOTEL 

will be equal to : 

(1) 60 (2) 75 

(3) 77 (4) 80 

  
4. ;fn MY = 16, SUN = 27 rks HOTEL 

fdlds cjkcj gS \ 

(1) 60 (2) 75 

(3) 77 (4) 80 

5. If  'water' is called 'air', 'air' is called 

'tree', 'tree' is called 'sky', 'sky' is 

called 'sea' and 'sea' is called 'fire', 

where do aeroplanes fly ? 

(1) water 

(2) sky 

(3) fire 

(4) sea 

  
5. ;fn ^ty* dks ^ok;q* dgrs gSa] ^ok;q* dks ^o`{k* 

dgrs gSa] ^o`{k* dks ^vkdk'k* dgrs gSa] 
^vkdk'k* dks ^leqnz* dgrs gSa vkSj ^leqnz* dks 
^vfXu* dgrs gSa] rks ok;q;ku dgk¡ mM+rs gSa \ 

(1) ty 

(2) vkdk'k 

(3) vfXu 

(4) leqnz 

6. How many '8's, are there followed by 

an even number and preceded by an 

odd number in the given number 

sequence ? 

584783285482986854878428645849 

(1) 2  (2) 3 

(3) 4  (4) 5 

  
6. nh xbZ vad Ükà[kyk esa fdrus '8' vad ,sls gaS 

ftuds igys fo"ke la[;k ysfdu ckn esa le 
la[;k gS \ 
 

584783285482986854878428645849 

(1) 2  (2) 3 

(3) 4  (4) 5 

7. J, K and L are educated; J, L and M 

are hard-working; L, M and N are 

employed; J, K, M and N are polite. 

Who is educated, hard-working, polite 

but not employed ? 

(1) J (2) K 

(3) L (4) N 

  
7. J, K rFkk L f'kf{kr gSa( J, L rFkk M 

ifjJeh gSa( L, M rFkk N ukSdjh'kqnk gSa( J, 
K, M rFkk N lqf'k"V gSaA mudk irk yxkb, 
tks f'kf{kr] ifjJeh rFkk lqf'k"V gSa ijUrq 
csjkst+xkj gSaA 

(1) J (2) K 

(3) L (4) N 
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8. If 'S' denote '+', 'D' denotes '–' , 'Q' 

denotes '÷' and 'P' denotes '×', then 

value of following  equation is : 

35 Q 7 P 5 S 5 D 6 = ? 

(1) 22 (2) 24 

(3) 26 (4) 28 

  
8. ;fn 'S'  dk vFkZ gS  '+', 'D' dk vFkZ gS 

'–' , 'Q' dk vFkZ gS '÷' vkSj  'P' dk vFkZ gS 
'×' rks fuEu lehdj.k dk eku crkb;sA 

35 Q 7 P 5 S 5 D 6 = ? 

(1) 22 (2) 24 

(3) 26 (4) 28 

Direction : (Q. No. 9 and 10) select the 

missing number from the given responses. 

  
funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0 9 rFkk 10½ fn, x, fodYiksa esa 
ls yqIr vad Kkr dhft,A 

9. 

 

(1) 6  (2) 4 

(3) 5  (4) 7 

  
9. 

 

(1) 6  (2) 4 

(3) 5  (4) 7 

10. 14 25 42 

2 4 6 

3 3 ? 

4 7 9 

(1) 7 (2) 6 

(3) 4 (4) 3 

  
10. 14 25 42 

2 4 6 

3 3 ? 

4 7 9 

(1) 7 (2) 6 

(3) 4 (4) 3 

Direction : (Q. No. 11 and 12) some 

equations are solved on the basis of a certain 

system. On the same basis, find out the 

correct answer, from amongst the four 

alternatives, for the unsolved equation. 

  funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0 11 rFkk 12½ dqN lehdj.k 
fdlh fo'ks"k iz.kkyh ds vk/kkj ij gy fd, x, gSaA 
blh vk/kkj ij gy u fd, x, lehdj.k dk lgh 
mÙkj fn, x, pkj fodYiksa esa ls Kkr dhft,A 

11. If   9*7 = 32, 11*5 = 96 

then 17*9 = ?  

(1) 160 (2) 175 

(3) 208 (4) 280 

  
11. ;fn 9*7 = 32, 11*5 = 96 

rks 17*9 = ?  

(1) 160 (2) 175 

(3) 208 (4) 280 
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12. 85 × 14 = 44, 68 × 28 = 64,  

79 × 45 = ? 

(1) 72 (2) 83 

(3) 96 (4) 124 

  
12. 85 × 14 = 44, 68 × 28 = 64,  

79 × 45 = ? 

(1) 72 (2) 83 

(3) 96 (4) 124 

Directions : Q. No. 13 and 14 are  based on 

the following data. 

Vaibhav  walks 2 km to east, turns right and 

walks 1 km and then turns left and walks 4 

km and again turning to his left travels 9 

km. 

  
funsZ'k % funsZ'k % funsZ'k % funsZ'k % iz'u la0 13 rFkk 14 fuEufyf[kr lwpuk 
ij vk/kkfjr gSaA 

oSHko iwjc fn'kk esa 2 fd- eh- pyrk gS] fQj nkfgus 

eqM+dj 1 fd- eh- pyrk gS vkSj fQj nkfgus eqM+dj 

4 fd- eh- pyrk gS vkSj fQj vius ck;ha vksj 

eqM+dj 9 fd- eh- pyrk gSA 

13. In which direction is Vaibhav now 

from his starting point ? 

(1) North 

(2) North-East 

(3) West 

(4) South-West 

  
13. vc oSHko vius vkjfEHkd LFkku ls fdl fn'kk 

esa gS \  

(1) mÙkj 

(2) mÙkj&iwjc 

(3) if'pe 

(4) nf{k.k&if'pe 

14. What is the shortest distance between 

Vaibhav's starting point and the 

present position ? 

(1) 6 km 

(2) 8 km 

(3) 10 km 

(4) 12 km 

  
14. oSHko ds vkjfEHkd LFkku vkSj orZeku fLFkfr 

ds chp U;wure nwjh fdruh gS \  

 

(1) 6 fd- eh- 

(2) 8 fd- eh- 

(3) 10 fd- eh- 

(4) 12 fd- eh- 
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Direction : (Q. No. 15 and 16) 

Take the given statements as true even if they 

seem to be at variance from commonly 

known facts and decide which of the 

conclusions logically follows from the 

statements. 

  funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0 15 rFkk 16½    

fn, x, dFkuksa dks lR; ekudj] pkgs os lkekU;r% 
Kkr rF;ksa ls fHkUu izrhr gksrs gksa] ;g fu.kZ; dhft, 
fd dFkuksa ls dkSu&ls fu"d"kZ rdZ laxr :i ls 
fudyrs gSaA 

15. Statements : 

All flowers are fruits.  

Some fruits are vegetables.  

No vegetable is tree. 

Conclusions : 

I. Some fruits are flowers. 

II. Some trees are vegetables. 

III. Some fruits are trees. 

(1) Only conclusion I follow. 

(2) Only conclusion II follow. 

(3) Only conclusion I and II follows. 

(4) Only conclusion II and III follows. 

  
15. dFku %dFku %dFku %dFku %    

lHkh Qwy Qy gSaA 

dqN Qy lfCt;k¡ gSaA 

dksbZ Hkh lCth isM+ ugha gSA 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    

I. dqN Qy Qwy gSaA 

II. dqN isM+ lfCt;k¡ gSaA 

III. dqN Qy isM+ gSaA 

(1) dsoy fu"d"kZ I fudyrk gSA 

(2) dsoy fu"d"kZ II fudyrk gSA 

(3) dsoy fu"d"kZ I vkSj II fudyrs gaSA 

(4) dsoy fu"d"kZ II vkSj III fudyrs gaSA 

16. Statement : 

Adversity makes a man wise. 

Conclusions : 

I. The poor are wise. 

II. Man learns from bitter 

experience. 

(1) If only conclusion I follow. 

(2) If only conclusion II follow. 

(3) If both  I and II follows. 

(4) If neither I and nor II follows. 

  
16. dFku %dFku %dFku %dFku %    

nqHkkZX; euq"; dks cqf)eku cukrk gSA 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    

I. xjhc yksx cqf)eku gksrs gSaA 

II. euq"; dVq vuqHkoksa ls lh[krk gSA 
 

(1) ;fn dsoy fu"d"kZ I fudyrk gSA 

(2) ;fn dsoy fu"d"kZ II fudyrk gSA 

(3) ;fn I vkSj II nksuksa fudyrs gaSA 

(4) ;fn u rks I vkSj u gh II fudyrs gSaA 
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17. 'Some of the Football players are 

Badminton players, some Badminton 

players are Tennis players, no 

Football player is a Tennis player.' 

Which of the following venn diagrams 

correctly represents the above 

statement ? 

 

 

  
17. ^dqN QqVcky f[kykM+h cSMfeUVu f[kykM+h gSa] 

dqN cSMfeaVu f[kykM+h Vsful f[kykM+h gSa] dksbZ 
Hkh QqVcky f[kykM+h Vsful f[kykM+h ugha gSA*  
 

fuEufyf[kr esa ls dkSu&lk osu&vkjs[k mijksDr 
dFku dk lgh fu:i.k djrk gS \ 
 

 

18. There are two dots placed in the 

Question Figure. Find out the answer 

figure which has the possibility of 

placing the dots satisfying the same 

conditions as in the Question figure ? 

 

Question Figure : 

 

Answer Figures : 

 

  
18. iz'u vkd`fr esa nks fcUnq j[ks x, gSaA irk 

yxkb;s fd iz'u vkd`fr dh lHkh 'krksZa dks iwjk 
djrs gq, fcUnqvksa dks fdl mÙkj vkd`fr esa 
j[kus dh lEHkkouk gS \ 
 
 
iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr %    

 

mÙkj vkd`fr;k¡ %mÙkj vkd`fr;k¡ %mÙkj vkd`fr;k¡ %mÙkj vkd`fr;k¡ %    

 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 
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19. Select a suitable figure from the four 

alternatives that would complete the 

given matrix. 

 

 
 

        
 

  
19. fn, x, pkj fodYiksa esa ls og vkd`fr pqfu, 

tks nh xbZ eSfVªDl dks iwjk djsA 
 
 

 
 

        

20. If a mirror is placed on the line X Y, 

then which of the answer figures is 

the correct image of the given 

Question Figure ? 

 
 

 

  
20. ;fn fdlh niZ.k dks js[kk X Y ij j[kk tk,] 

rks nh xbZ mÙkj vkd`fr;ksa esa ls dkSu&lh 
vkd`fr iz'u vkd`fr dk lghlghlghlgh izfrfcEc gksxh \ 
 

 
 

 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 
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21. Two positions of a dice are shown 

below. When number 1 is on the top, 

what number will be at the bottom ? 

 

(1) 2 (2) 3 

(3) 5 (4) 6 

  
21. uhps ,d ikls dh nks fLFkfr;k¡ fn[kkbZ xbZ gSaA 

tc Åijh Qyd ij la[;k 1 gks] rks uhps 
okys Qyd ij dkSu&lk vad gksxk \ 

 

(1) 2 (2) 3 

(3) 5 (4) 6 

22. How many triangles are there in the 

following figure ? 

 

(1) 20 (2) 25 

(3) 32 (4) 34 

  
22. uhps nh xbZ vkd`fr esa fdrus f=Hkqt gSa \ 

 

 

(1) 20 (2) 25 

(3) 32 (4) 34 

Direction : (Q. No. 23 to 27) 

In the following questions, there is a 

relationship between the letters /numbers 

/figures on the left of the sign (::). The same 

relationship exists to the right of the sign (::), 

of which one is missing. Find the missing 

term from the given alternatives. 

  
funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0    23    ls    27    rd½    

fuEu iz'uksa eas ¼%%½ fpg~u ds ck;ha vksj ds 
v{kjksa@la[;kvksa@vkd`fr;kas esa ,d lEcU/k gSA      
ogh lEcU/k ¼%%½ fpg~u ds nkfguh vksj gS] ftlesa ls 
,d in yqIr gSA fn, gq, fodYiksa esa ls yqIr in Kkr 
dhft,A 

23. C E H L : P L I G :: L N Q U : ? 

(1) P Y U R 

(2) Y U P R 

(3) Y U R P 

(4) Y P U R 

  
23. C E H L : P L I G :: L N Q U : ? 

(1) P Y U R 

(2) Y U P R 

(3) Y U R P 

(4) Y P U R 
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24. F E A L : L E A F :: E A K T : ? 

(1) K A T E (2) T A K E 

(3) K E T A (4) E T A K 

  
24. F E A L : L E A F :: E A K T : ? 

(1) K A T E (2) T A K E 

(3) K E T A (4) E T A K 

25. 63 : 9 :: ? : 14 

(1) 43 (2) 54 

(3) 86 (4) 96 

  
25. 63 : 9 :: ? : 14 

(1) 43 (2) 54 

(3) 86 (4) 96 

26. 5 : 64 :: 11 : ?  

(1) 121 (2) 124 

(3) 144 (4) 196 

  
26. 5 : 64 :: 11 : ?  

(1) 121 (2) 124 

(3) 144 (4) 196 

27. 

 

       

  
27. 

 

       

Direction : (Q. No. 28 to 32) 

In the following questions, some letter clusters/ 

numbers/figures are given in a sequence. Find 

the missing term to replace the question mark 

from the given alternatives. 

  funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0 28 ls 32 rd½    

fuEu iz'uksa eas v{kj lewg@la[;k;sa@vkd`fr;k¡ ,d Øe 
esa nh xbZ gSaA fn, gq, fodYiksa esa ls ml yqIr in dks 
Kkr dhft, tks iz'u fpg~u ds LFkku ij vk;sxhA 

28. R E O C,  P G M E,  N I K G,  ? 

(1) M J J I 

(2) L K I I 

(3) L K J H 

(4) K L I G 

  
28. R E O C,  P G M E,  N I K G,  ? 

(1) M J J I 

(2) L K I I 

(3) L K J H 

(4) K L I G 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 

: :: : ? : :: : ? 
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29. B Y C X,  D W E V,  F U G T,  ? 

(1) J S H R 

(2) H R J S 

(3) H S R J 

(4) H S I R 

  
29. B Y C X,  D W E V,  F U G T,  ? 

(1) J S H R 

(2) H R J S 

(3) H S R J 

(4) H S I R 

30. 6, 11, 26, 71, 206, ? 

(1) 244 

(2) 496 

(3) 611 

(4) 632 

  
30. 6, 11, 26, 71, 206, ? 

(1) 244 

(2) 496 

(3) 611 

(4) 632 

31. 81, 192, 375, ?, 1029 

(1) 686 

(2) 648 

(3) 484 

(4) 468 

  
31. 81, 192, 375, ?, 1029 

(1) 686 

(2) 648 

(3) 484 

(4) 468 

32. 

  

  
32. 

 

(1) 

(3) 

(2) 

(4) 

(1) 

(3) 

(2) 

(4) 
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33. Arrange the following words in a 

logical order. 

1. Leaf 2. Fruit 3. Stem 4. Root 

5.  Flower 

(1) 4,1,3,5,2 

(2) 4,3,1,2,5 

(3) 4,3,1,5,2 

(4) 4,5,1,3,2 

  
33. fuEufyf[kr 'kCnksa dks ,d rdZlaxr Øe esa 

jf[k;sA 

1. iÙkk 2. Qy 3. ruk 4. ewy 5. Qwy 
 

(1) 4,1,3,5,2 

(2) 4,3,1,2,5 

(3) 4,3,1,5,2 

(4) 4,5,1,3,2 

34. Which one number is wrong in the 

number series ? 

13,17,19,23,27,29 

(1) 29 (2) 27 

(3) 23 (4) 19 

  
34. la[;k&Ükà[kyk esa dkSu&lh ,d la[;k xyr 

gS \ 

13,17,19,23,27,29 

(1) 29 (2) 27 

(3) 23 (4) 19 

Direction : Q. No. 35 to 37 are based on 

following information. 

A group of friends is sitting in a square 

facing the centre. They are sitting one each 

at the corners and one each at the midpoints 

of the sides of the square. Madhvi is sitting 

diagonally opposite to Uma who is to Girija's  

right. Rajesh is next to Girija and opposite 

to Gyan who is on Vinod's left. Satish is not 

on Madhvi's right but opposite to Priya. 

  funsZ'k %funsZ'k %funsZ'k %funsZ'k % iz'u la0 35 ls 37 fuEufyf[kr lwpuk ij 
vk/kkfjr gSaA 

fe=ksa dk ,d lewg oxZ esa dsUnz dh vksj eq[k djds 
cSBs gq, gSaA izR;sd] oxZ ds dksuksa rFkk mldh Hkqtkvksa 
ds e/;&fcUnqvksa ij cSBk gSA ek/koh dh fLFkfr mek ds 
Bhd lkeus fod.kZ :i esa gS] tks fxfjtk ds nkfguh 
vksj cSBh gSA  fxfjtk ls vxyk jkts'k rFkk Kku ds 
lkeus gS tks fouksn ds ck;ha vksj cSBk gSA lrh'k dh 
fLFkfr ek/koh ds nkfgus u gksdj fiz;k ds lkeus gSA 

35. Who is opposite to Vinod ? 

(1) Girija 

(2) Madhvi 

(3) Priya 

(4) Satish 

  
35. fouksn ds lkeus dkSu cSBk gS \ 

(1) fxfjtk 

(2) ek/koh 

(3) fiz;k 

(4) lrh'k 
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36. Who is between Gyan and Madhvi ? 

(1) Rajesh 

(2) Satish 

(3) Vinod 

(4) Priya 

  
36. Kku vkSj ek/koh ds chp dkSu cSBk gS \ 

(1) jkts'k 

(2) lrh'k 

(3) fouksn 

(4) fiz;k 

37. If Gyan and Rajesh interchange their 

places, who will be to the left of Gyan ? 

(1) Satish 

(2) Priya 

(3) Vinod 

(4) Girija 

  
37. ;fn Kku vkSj jkts'k viuk LFkku vkil esa 

cny ysa] rks Kku ds ck;ha vksj dkSu cSBk gS \ 

(1) lrh'k 

(2) fiz;k 

(3) fouksn 

(4) fxfjtk 

38. Arrange the following words as per 

order in the dictionary. 

1. Dissident 2. Dissolve 3. Dissent  

4.  Dissolute 5. Dissolution 

(1) 3,1,4,2,5 

(2) 3,1,4,5,2 

(3) 3,2,4,5,1 

(4) 3,2,1,4,5 

  
38. fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, Øe ds 

vuqlkj jf[k;sA 

1. Dissident 2. Dissolve 3. Dissent  

4.  Dissolute 5. Dissolution 

(1) 3,1,4,2,5 

(2) 3,1,4,5,2 

(3) 3,2,4,5,1 

(4) 3,2,1,4,5 
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39. In a race Amar was running faster 

than Bipin. Chetan could not run as 

fast as Amar but ran faster than 

Deepak. Bipin too could not run as 

fast as Chetan but ran faster than 

Deepak. Who will be the winner in 

the race ? 

(1) Deepak 

(2) Chetan 

(3) Bipin 

(4) Amar 

  
39. ,d nkSM+ esa vej] fcfiu ls vf/kd rsth ls 

nkSM+ jgk FkkA psru mruk rst u nkSM+ ldk 
ftruk fd vej nkSM+k ijUrq og nhid ls 
vf/kd rst nkSM+kA fcfiu Hkh mruk rst u nkSM+ 
ldk ftruk rst psru nkSM+k ijUrq og nhid 
ls vf/kd rst nkSM+kA bl nkSM+ esa dkSu lQy 
jgk \ 

(1) nhid 

(2) psru 

(3) fcfiu 

(4) vej 

40. If Friday falls on 15th of September 

2000, what will be the day on 15th of 

September 2001 ? 

(1) Thursday 

(2) Friday 

(3) Saturday 

(4) Sunday 

  
40. ;fn 15 flrEcj 2000 dks 'kqØokj gS] rks 

15 flrEcj 2001 dks dkSu&lk fnu gksxk \ 
 

(1) c`gLifrokj 

(2) 'kqØokj 

(3) 'kfuokj 

(4) jfookj 

Directions : (Q. No. 41 to 43) 

Select the one word-pair/number-pair/letter 

cluster which is different from the other three 

alternatives. 

  funsZ'k % funsZ'k % funsZ'k % funsZ'k % ¼iz'u la0 41 ls 43 rd½    

ml ,d 'kCn&;qxy@la[;k&;qxy@v{kj&lewg dks 
pqfu, tks vU; rhu fodYiksa ls fHkUu gSA 

41. (1) Light : Heavy 

(2) Kind : Cruel  

(3) Soft : Hard 

(4) Vacant : Empty 

  
41. (1) gYdk % Hkkjh 

(2) n;kyq % Øwj 

(3) dksey % dBksj 

(4) fjDr % [kkyh 
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42. (1) 18 : 48 

(2) 30 : 80 

(3) 40 : 110 

(4) 48 : 134 

  
42. (1) 18 : 48 

(2) 30 : 80 

(3) 40 : 110 

(4) 48 : 134 

43. (1) D I M P R 

(2) H M Q T V 

(3) Q V Z B C 

(4) U Z D G I 

  
43. (1) D I M P R 

(2) H M Q T V 

(3) Q V Z B C 

(4) U Z D G I 

44. At present the father is older than the 

son by 25 years. After 13 years the 

father's age becomes double that of 

the son. What is father's age now ? 

(1) 26 years 

(2) 37 years 

(3) 38 years 

(4) 50 years 

  
44. bl le; firk dh vk;q vius iq= dh vk;q 

ls 25 o"kZ vf/kd gSA 13 o"kZ ckn firk dh 
vk;q] iq= dh vk;q dh nqxuh gks tk,xhA firk 
dh orZeku vk;q D;k gS \ 

(1) 26 o"kZ 

(2) 37 o"kZ 

(3) 38 o"kZ 

(4) 50 o"kZ 

45. In a row of boys, Vishal is seventh 

from the left and Kamal is eleventh 

from the right. When they exchange 

their places, Vishal is thirteenth from 

the left. What is the new position of 

Kamal from the right ?  

(1) 16th 

(2) 17th 

(3) 18th 

(4) 19th 

  
45. yM+dksa dh ,d iafDr esa fo'kky ck;ha vksj ls 

lkrosa Øe ij gS vkSj dey nk;ha vksj ls 
X;kjgosa Øe ijA ;fn os nksuksa viuk LFkku 
vkil esa cny ysa] rks fo'kky dk ck;ha vksj 
ls Øe rsjgok¡ gks tk,xkA dey dk nk;ha vksj 
ls u;k LFkku D;k gksxk \ 

(1) 16ok¡ 

(2) 17ok¡ 

(3) 18ok¡ 

(4) 19ok¡ 
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46. In an examination some questions 

carry 2 marks each and some others 4 

marks each. A student scored 40 

marks by attempting 15 questions 

correct in all. How many questions 

carrying 2 marks did he attempt 

correctly ? 

(1) 15 

(2) 12 

(3) 8 

(4) 10 

  
46. ,d ijh{kk esa dqN iz'u 2 vadksa ds rFkk dqN 

4 vadksa ds FksA ,d Nk= us 15 iz'u lgh gy 
djds 40 vad izkIr fd,A ml Nk= us 2 
vadksa okys fdrus iz'u lgh gy fd, Fks \ 
 
 
 

(1) 15 

(2) 12 

(3) 8 

(4) 10 

Direction : Q. No. 47 to 49 are based on 

following information. 

P,Q,R,S,T and V are relatives. 'Q' is the son 

of 'R' but 'R' is not the mother of 'Q'. 'P' and 

'R' is a married couple. 'T' is the brother of 

'R'. 'S' is the daughter of 'P', and 'V' is the 

Aunt of 'Q'. 

  
funsZ'k % funsZ'k % funsZ'k % funsZ'k % iz'u la0 47 ls 49 fuEufyf[kr lwpuk ij 
vk/kkfjr gSaA 

P,Q,R,S,T vkSj V lEcU/kh gSaA  'Q' csVk gS  'R' 
dk ijUrq  'R' ek¡ ugh gSa 'Q' dhA 'P' vkSj 'R' ,d 
fookfgr tksM+k gSA 'T' HkkbZ gS 'R' dkA 'D' csVh gS 'P' 
dh] vkSj 'V' pkph gS 'Q' dhA 

47. Who is the mother of 'Q' ? 

(1) P (2) R 

(3) S (4) T 

  
47. 'Q' dh ek¡ dkSu gS \ 

(1) P (2) R 

(3) S (4) T 

48. How is 'T' related to  'Q' ? 

(1) Father 

(2) Brother 

(3) Son 

(4) Uncle 

  
48. 'T' dk 'Q' ls D;k lEcU/k gS \ 

(1) firk 

(2) HkkbZ 

(3) iq= 

(4) pkpk 
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49. Who is the wife of 'T' ? 

(1) R (2) V 

(3) S (4) P 

  
49. 'T' dh iRuh dkSu gS \ 

(1) R (2) V 

(3) S (4) P 

50. From the given alternative words, 

select the word which cannot be 

formed using the letters of the given 

word : 

COMMISSIONER 

(1) COMMON 

(2) MISSION 

(3) MISSILE 

(4) SIREN 

  
50. fn, x, oSdfYid 'kCnksa esa ls ml 'kCn dks 

pqfu, tks fn, x, 'kCn ds v{kjksa dk iz;ksx 
djds ughaughaughaugha cuk;k tk ldrk % 
 

COMMISSIONER 

(1) COMMON 

(2) MISSION 

(3) MISSILE 

(4) SIREN 
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funs Z'k %funs Z'k %funs Z'k %funs Z'k %    ¼iz0 la0    51 ls 55 rd½ 

uhps fn, x, x|ka'k dks i<+dj fjDr LFkku dh iwfrZ 
gsrq lcls lgh fodYi dk p;u dhft, % 

vius bfrgkl ds vf/kdka'k dkyksa esa Hkkjr ,d 

lkaLd`frd bdkbZ gksrs gq, Hkh ikjLifjd ;q)ksa ls            

--------------- (51) gksrk jgkA ;gk¡ ds 'kkld vius 

'kklu&dkS'ky esa /kwrZ ,oa ---------------(52) FksA 

le;&le; ij ;gk¡ nqfHkZ{k ck<+ rFkk Iysx ds -----------

(53) gksrs jgs] ftlls lgL=kas O;fDr;ksa dh --------------

(54) gqbZA tUetkr vlekurk /keZlaxr ekuh xbZ 

ftlds QyLo:i uhps dqy ds O;fDr;ksa dk thou          

--------------(55) cu x;kA 

51. (1) lEekfur (2) ttZj 

(3) iYyfor (4) iqf"ir 

52. (1) cqf)eku (2) dq'ky 

(3) vlko/kku (4) fuiq.k 

53. (1) izdksi (2) esys 

(3) funku (4) ojnku 

54. (1) e`R;q  (2) gR;k 

(3) vkRegR;k (4) nkg 

55. (1) ojnku (2) lq[kn 

(3) lqUnj (4) vfHk'kki 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %    ¼iz0 la0 56 ls 60 rd½ 

uhps fn, x, x|ka'k dks i<+dj fjDr LFkku dh iwfrZ 
gsrq lcls lgh fodYi dk p;u dhft, % 

geas lalkj ds lHkh tho ------------ (56) ls I;kj djuk 
pkfg, vkSj muds -------------- (57) viuk O;ogkj Hkh 
-------------- (58) j[kuk pkfg,A ekuo ek= ds izfr 
gesa gj {k.k vius ân; dks [kqyk gh j[kuk pkfg,A 
dgus dk rkRi;Z gS fd lekt dk ------------ (59) 
O;fDr vehj&xjhc] f'kf{kr&vf'kf{kr] ifjfpr&vifjfpr 
gekjs mfpr Lusg vkSj lEeku dk vf/kdkjh gSA 
lk/kkj.kr% fd'kksj ,oa fd'kksfj;ksa ds  ------------(60) esa 
muds ekrk&firk] xq#tu ,oa muds lgikfB;ksa dk 
egRoiw.kZ LFkku gksrk gSA 

56. (1) i'kqvkas (2) tarqvksa 

(3) tkuojksa (4) ekuoksa 

57. (1) }kjk  (2) dkj.k 

(3) izfr (4) tfj, 

58. (1) dVq  (2) e/kqj 

(3) lqUnj (4) dBksj 

uksV % uksV % uksV % uksV % vksvksvksvks----,e,e,e,e----vkjvkjvkjvkj----    'khV ds i`"B 'khV ds i`"B 'khV ds i`"B 'khV ds i`"B 1    ds Øekad ds Øekad ds Øekad ds Øekad 10    esa Hkk"kk dk fodYi vo’; Hkjs aAesa Hkk"kk dk fodYi vo’; Hkjs aAesa Hkk"kk dk fodYi vo’; Hkjs aAesa Hkk"kk dk fodYi vo’; Hkjs aA 

PART – II ¼¼¼¼HkkxHkkxHkkxHkkx – II½½½½    
LANGUAGE TEST 

Hkk"kkHkk"kkHkk"kkHkk"kk    ijh{k.kijh{k.kijh{k.kijh{k.k    
  Questions : 51 to 100               ¼fgUnh¼fgUnh¼fgUnh¼fgUnh    Hkk"kkHkk"kkHkk"kkHkk"kk½½½½ 
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59. (1) izR;sd (2) dksbZ 

(3) dqN (4) vdsyk 

60. (1) eu esa (2) izk.kkas esa 

(3) thou esa (4) O;ogkj esa 

funs Z'k %funs Z'k %funs Z'k %funs Z'k % ¼iz0 la0 61 ls 65 rd½ 
uhps fn, x, x|ka'k dks i<+dj lcls lgh fodYi dk 
p;u dhft, % 
dykdkj lkSan;Z&fiz; gksrk gSA jk"Vª ij eaMjkrh ;q) dh 
?ku?kksj ?kVkvksa ds chp esa] dykdkj dh ok.kh gh 
fctyh dh rjg iFk&izn'kZd cudj xqejkgksa dks jkg 
fn[kk tkrh gSA varrZe dh lqanjre vuqHkwfr dks 
vfHkO;Dr djus dh {kerk gh dykdkj dk vkn'kZ gSA 
fdlh Hkh dykdkj dk v/;;u djus ij geas Kkr gksrk 
gS fd vius led{kh; ekuo ds izfr mlesa vn~Hkqr 
fdarq ekuoh; lgkuqHkwfr vo'; vksr&izksr jgrh gSA 
mlesa ,d ,slh izo`fÙk ikbZ tkrh gS tks ekuo&ek= dk 
dY;k.k pkgrh gS vkSj HksnHkko vFkok Å¡p&uhp ds 
nwf"kr okrkoj.k dh mlesa dgha dksbZ xa/k ugha jgrhA 
izkphu Hkkjr ds Lof.kZe ;qx dk v/;;u djus ls gesa 
fofnr gksrk gS fd tc lalkj ds vU;kU; ns'k dyk ds 
uke ls loZFkk vufHkK Fks] rc gekjk ns'k dyk dh 
egÙkk dks iw.kZr% le>rk FkkA dyk dh j{kk ds fy, 
izkphu Hkkjr us dqN mBk ugha j[kk FkkA D;k vehjksa 
vkSj D;k Qdhjksa] lHkh ds fy, dyk dh vko';drk 
leku :i ls Lohdkj dh tkrh Fkh && ;gk¡ rd fd 
/kkfeZd vkSj jktuhfrd la?k"kkasZ ds le; Hkh dyk dk 
Lo:i v{kq..k j[kk tkrk FkkA izkphu Hkkjr dk 
bfrgkl gekjh rRdkyhu LorU=rk dk ;'k&xku vius 
o{k ls vkt Hkh fpidk, gesa dyk dk okLrfod 
lEeku djus dh izsj.kk ns jgk gSA 

61. dykdkj dh ok.kh esa fdl izdkj dh 'kfDr 
gksrh gS \ 

(1) lgkuqHkwfr izdV djus dh  

(2) iFk&izn'kZu djus dh 

(3) lkSan;Z&o.kZu djus dh   

(4) vkn'kZ LFkkfir djus dh 

62. izkphu Hkkjr esa dyk dk D;k LFkku Fkk \ 

(1) dyk dk dksbZ lEeku ugha Fkk 

(2) lc dyk ls vufHkK Fks 

(3) dyk dh egÙkk dks iw.kZ:i ls le>k x;k 
Fkk 

(4) dyk iw.kZ:i ls vfodflr Fkh 

63. dykdkj dk vkn'kZ D;k gS \  

(1) yksxksa dh ihM+k dk gj.k djuk 

(2) jk"Vª ds [krjksa ds izfr tuekul dks 
lpsr djuk 

(3) varrZe dh lqUnjre vuqHkwfr dks 
vfHkO;Dr djuk 

(4) viuh laLd`fr dh iz'kalk djuk 

64. dykdkj esa fdl izdkj dh izo`fÙk ikbZ tkrh 
gS \ 

(1) HksnHkko dh 

(2) dyk dk izn'kZu djus dh 

(3) /kuktZu dh 

(4) ekuo&ek= ds dY;k.k dh 
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65. Hkkjr ds bfrgkl ls gesa D;k izsj.kk feyrh gS \ 

(1) R;kx djus dh 

(2) 'kghn gksus dh 

(3) dyk dk lEeku djus dh 

(4) xqejkgksa dks jkg fn[kkus dh 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %    ¼iz0 la0    66    ls    70    rd½    

uhps fn, x, x|ka'k dks i<+dj lcls lgh fodYi dk 
p;u dhft, % 

izd`fr dk larqyu fcxkM+us dh fn'kk esa ge fiNys 
nks&rhu lkS o"kksZa ds nkSjku bruk vf/kd c<+ pqds gSa fd 
vc ihNs gVuk vlaHko lk yxrk gSA ftl xfr ls ge 
fofHkUu {ks=ksa esa izkd`frd larqyu fcxkM+rs jgs gSa] blesa 
dksbZ O;kogkfjdrk ugha izrhr gksrh D;ksafd gekjh 
vFkZO;oLFkk, ¡ vkSj nSfud vko';drk,¡ ml xfr ds 
lkFk tqM+ lh xbZ gSaA D;k gesa Kkr ugha fd ftls ge 
viuk vkgkj le> jgs gSa oLrqr% og gekjk nSfud 
fo"k gS] tks gekjs thou dks lekfIr dh vksj ys tk 
jgk gSA taxyksa dks gh yksA ;g ,d izdV rF; gS fd 
fofHkUu ns'kksa dh ou lEifÙk vR;Ur rhoz xfr ls u"V 
gksrh tk jgh gS] Hkkjr ds fofHkUu izns'kksa fo'ks"kdj 
iwokZapy ds jkT;ksa] mÙkj izns'k] fgekpy izns'k] d'ehj 
vkfn ds taxy Hkkjh la[;k esa dkVs tk jgs gSaA tcfd 
ge lc ;g vPNh rjg ls tkurs gSa fd taxyksa dks 
dkVus dk eryc gksxk && Hkwfe dks vjf{kr djuk] 
ck<+ksa dks c<+kok nsuk vkSj ekSle ds vokafNr cnyko 
esa lgk;d cuukA 

66. fiNys nks&rhu lkS o"kksZa esa izkd`frd larqyu dh 
dSlh fLFkfr gS \ 

(1) vLrO;Lr gqvk gS 

(2) lqUnj cuk gS 

(3) dksbZ ifjorZu ugha gqvk 

(4) ;Fkkor gS 

67. izkd`frd vlarqyu dh [kjkc fLFkfr ds ihNs 
dkj.k gaS % 

(1) izd`fr ds izfr fujk'kk 

(2) vFkZO;oLFkk vkSj nSfud vko';drk,¡ 

(3) ;ksx ,oa v/;kRe 

(4) ck<+ ,oa HkwL[kyu 

68. euq"; ds }kjk fd;k x;k miHkksx varr% mlds 
fy, D;k fl) gksxk \ 

(1) ykHknk;d gksxk 

(2) j{kknk;d gksxk 

(3) fo"k cu tk,xk 

(4) 'kfDrnk;d gksxk 

69. ck<+kas dks c<+kok feyus vkSj ekSle ds vokafNr 
cnyko dk dkj.k gS % 

(1) izd`fr ds izfr vukLFkk 

(2) taxyksa dh Hkkjh la[;k esa dVkbZ 

(3) ikS/kksa dks ikuh u nsuk 

(4) ck¡/k u cukuk 
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70. ^O;ogkj* 'kCn esa ^bd* izR;; tqM+dj u;k 
'kCn cusxk %  

(1) O;ogkfjd  

(2) O;ogfjd 

(3) O;kogkfjd  

(4) O;kogfjd 

funs Z'k % funs Z'k % funs Z'k % funs Z'k % ¼iz'u la0    71    ls    75 rd½    

uhps fn, x, x|ka'k dks i<+dj lcls lgh fodYi dk 
p;u dhft, % 

dSlk lqanj gS ;g fgeky;! tc bldh pksfV;ksa ij lw;Z 
dh yky&fdj.ksa iM+rh gaS rks prqfnZd Lo.kZ&jkf'k fc[kj 
tkrh gSA tc pk¡nuh vkrh gS rks pksfV;k¡ nw/k esa ugk 
mBrh gSaA  blh izdkj nf{k.k esa iwohZ vkSj  if'peh 
rVksa ij  igkM+ksa dh ,d Ükà[kyk gSA e/; esa foU/;] 
lriqM+k vkSj vjkoyh dh igkfM+;k¡ es[kyk dh Hkk¡fr 
QSyh gqbZ gSaA bu igkM+kas ls fudydj xaxk] ;equk] 
flU/kq] d`".kk] dkosjh] egkunh bR;kfn vusd ufn;k¡ 
eSnkuksa dks lhapdj gekjs ns'k dks mitkÅ cukrh gSaA 
xaxk] ;equk vkSj fla/kq dk gekjs bfrgkl ds fuekZ.k] 
gekjs /kkfeZd thou dh jpuk vkSj gekjh lH;rk ds 
fodkl esa cgqr cM+k gkFk jgk gSA bu igkM+ksa vkSj 
ufn;ksa ds fdukjs izkphu dky esa vusd _f"k;ksa rFkk 
Kkfu;ksa ds vkJe Fks] tgk¡ gekjs cPpksa dk 'kkjhfjd 
vkSj ckSf)d fodkl lkFk&lkFk gksrk FkkA buesa gekjs 
vusd rhFkZ gSa tgk¡ dh ;k=k dj ge izkd`frd n`';ksa 
dk vkuUn izkIr djrs gSa vkSj ân; dk ifj"dkj djrs 
gSaA bu igkM+ksa vkSj ufn;ksa dk gekjs ns'k dh tyok;q] 
i`Foh dh cukoV] mit rFkk gekjh izd`fr ij Hkh 
vR;f/kd izHkko iM+k gSA dsoy fgeky; gh gekjs ns'k 
ds fuekZ.k] j{k.k vkSj ikyu esa bruk Hkkx ysrk gS fd 

ge mlds _.k ls dHkh eqDr ugha gks ldrsA e/; 
,f'k;k dh jsfxLrkuh vk¡f/k;ksa dks blus /kedkdj lnk 
ds fy, b/kj vkus ls jksd fn;k gSA ;fn fgeky; chp 
esa iM+dj gekjh j{kk u djrk rks tgk¡ vkt mÙkj 
Hkkjr dh 'kL; ';keyk Hkwfe QSyh gqbZ gS] ogk¡ 
jsfxLrku gksrkA 

71. gekjh lH;rk ds fodkl esa fdldk cM+k gkFk 
gS \ 

(1) tu leqnk; dk  

(2) /keZ xq#vksa dk 

(3) xaxk] ;equk vkSj flU/kq dk 

(4) foKku dk 

72. Hkkjr Hkwfe dks jsfxLrkuh vk¡f/k;ksa ls cpkus esa 
lcls cM+h Hkwfedk fdlus fuHkkbZ \ 

(1) xaxk unh us   

(2) fgeky; ioZr us 

(3) czãiq= us   

(4) tyok;q us 

73. ge fgeky; ds _.k ls eqDr D;ksa ugha gks 
ldrs \ 

(1) D;ksafd ;g fo'kky ioZr gS 

(2) D;ksafd blesa ls vusd ufn;k¡ fudyrh gSa 

(3) D;ksafd ;g j{kd] ikyd vkSj fuekZrk gS 

(4) D;ksafd ;gk¡ lqUnj izkd`frd n`'; ns[kus 
dks feyrs gSa 
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74. izkphu dky esa _f"k;ksa ds vkJe dgk¡ fLFkr   
Fks \ 

(1) jktegyksa esa  

(2) xqQkvksa esa 

(3) leqnzh rVksa ij 

(4) igkM+kas vkSj ufn;ksa ds fdukjs 

75. ^vR;f/kd* 'kCn esa milxZ gS % 

(1) v (2) vfr 

(3) vR; (4) vr~ 

funs Z'k % funs Z'k % funs Z'k % funs Z'k % ¼iz0 la0    76    ls    80    rd½ 

fuEufyf[kr dkO;ka'k dks /;kuiwoZd i<+dj lcls lgh 
fodYi dk p;u djsa % 

 "kM~~_rqvksa dk Øe euHkkou] 

 u,&u, R;kSgkj] 

 e/kqj&e/kqj tuxhr gekjs] 

 e/kqj&e/kqj O;ogkj! 

 lqanj ukjh&uj] ckydx.k] 

 lqanj o`) le`)] 

 ;qx&lkxj esa lqHkx gekjh 

 mUufr&Lo.kZ&rjh! 

 esjk ns'k lqugyk 

 bldh /kjrh gjh&Hkjh! 

  lqUnj&lqUnj uxj gekjs] 

  lqUnj xk¡o gekjs] 

  izxfr&iFk ij nzqrxfrxkeh] 

  cye; ik¡o gekjs! 

  u;k fo/kku] eqDr tu&'kklu 

  fueZy cqf) gekjh] 

  uo;qx ds vuqdwy gekjh && 

  laLd`fr Hkh fu[kjh! 

  esjk ns'k lqugyk] 

  bldh /kjrh gjh&Hkjh! 

76. esjs ns'k esa fdldk Øe euHkkou gS \ 

(1) xhrksa dk (2) R;ksgkjksa dk 

(3) _rqvksa dk (4) ufn;ksa dk 

77. ;qx :ih lkxj esa gekjh D;k rSj jgh gS \  

(1) mUufr (2) vk'kk,¡ 

(3) dYiuk,¡ (4) ftKklk,¡ 

78. gekjs cye; ik¡o fdl iFk ij vxzlj gSa \ 

(1) ;q) iFk ij  

(2) izxfr iFk ij 

(3) Kku iFk ij  

(4) laxhr iFk ij 
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79. ^fueZy* 'kCn esa milxZ gS % 

(1) fu (2) fuj~ 

(3) fuj (4) fu% 

80. gekjs ns'k ds tu&xhr dSls gSa \ 

(1) e/kqj (2) ljy 

(3) lgt (4) lqanj 

81. lw;Z + vLr dh lfU/k ls cuk 'kCn gS % 

(1) lw;ksZLr (2) lq;kZLr 

(3) lw;kZLr (4) lqj;kLr 

82. ^>xM+k bdrjQk ugha gksrk* bl Hkko ds fy, 
dkSu-lh yksdksfDr gS \ 

(1) ,d E;ku esa nks ryokjsa ugha lekrh 

(2) vdsyk puk HkkM+ ugha QksM+ ldrk 

(3) viuh&viuh <iyh] viuk&viuk jkx 

(4) rkyh ,d gkFk ls ugha ctrh 

83. ^ns'kHkfDr* leLr in dk lgh foxzg gksxk % 

(1) ns'k vkSj HkfDr 

(2) ns'k gh HkfDr 

(3) ns'k ds fy, HkfDr 

(4) ns'k ls HkfDr 

84. fuEufyf[kr esa ls feJ okD; gS % 

(1) o"kkZ ugha gqbZ vkSj Qly cckZn gks xbZA 

(2) ;fn o"kkZ u gqbZ rks Qly cckZn gks 
tk,xhA 

(3) o"kkZ u gksus ij Qly cckZn gks tk,xhA 

(4) Qly dh cckZnh o"kkZ u gksus ls gqbZA 

85. ^ukfod* 'kCn dk lgh lfU/k foPNsn gksxk % 

(1) uS + fod (2) ukS + bd 

(3) us + bd (4) us + fod 

86. fuEufyf[kr esa ls dkSu&lk leLr in rRiq#"k 
lekl dk mnkgj.k gS \ 

(1) pj.kdey (2) ykHk&gkfu 

(3) vkuaneXu (4) ;Fkk'kfDr 

funs Z'k % funs Z'k % funs Z'k % funs Z'k % ¼iz0 la0    87 ls 90 rd ½    

uhps fn, x, okD;ksa dks rkfdZd Øe esa fyf[k, % 

87. 1. mÙke thou mudk gksrk gS ftUgsa nwljksa 
dk midkj djus esa lq[k feyrk gSA 

2. thou rhu rjg dk gksrk gSA 

3. igyk ijksidkjh thou] nwljk lkekU; 
thou vkSj rhljk vidkjh thouA 

4. bls ;Kh; thou Hkh dgk tkrk gSA 

(1) 4, 2, 3, 1 (2) 2, 3, 1, 4 

(3) 1, 2, 3, 4 (4) 2, 4, 1, 3 
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88. 1. blds ckn fudksckjh }hi lewg dh 
Ükà[kyk vkjaHk gksrh gSA 

2. vaneku }hi lewg dk vafre nf{k.kh }hi 
gS fyfVy vanekuA 

3. ;g fudksckjh tutkfr dh vkfne laLd`fr 
dk dsanz gSA 

4. fyfVy vaneku iksVZ Cys;j ls yxHkx lkS 
fdyksehVj nwj fLFkr gSA 

(1) 4, 3, 1, 2 (2) 4, 1, 2, 3 

(3) 2, 4, 1, 3 (4) 1, 3, 2, 4 

89. 1. ijUrq fofHkUu fu;eksa dk ikyu eu ls 
fd;k tk, rks mls vkarfjd vuq'kklu 
dgrs gaSA 

2. fu;a=.k dk uke gh vuq'kklu gSA 

3. tkucw>dj cyiwoZd Fkksik x;k vuq'kklu 
^ckg~; vuq'kklu* dgykrk gSA 

4. vuq'kklu ckg~; ,oa vkarfjd nks izdkj 
dk gksrk gS 

(1) 4, 1, 2, 3 (2) 2, 4, 3, 1 

(3) 4, 3, 2, 1 (4) 2, 1, 3, 4 

90. 1. Je gh euq"; thou dh xkM+h dks [khaprk 
gSA 

2. phaVh ls ysdj gkFkh rd lHkh tho fcuk 
Je ds thfor ugha jg ldrsA 

3. Je dk vFkZ gS & esgur 

4. fQj euq"; rks vU; lHkh izkf.k;ksa ls Js"B 
gSA 

(1) 2, 3, 4, 1 (2) 2, 3, 1, 4 

(3) 1, 2, 3, 4 (4) 3, 1, 2, 4 

91. fuEufyf[kr esa ls dkSu&lk 'kCn ^iq"i* dk 
i;kZ;okph ughaughaughaugha gS \ 

(1) Qwy (2) lqeu 

(3) izlwu (4) izLrj 

92. ^ekfeZd* 'kCn esa izR;; gS % 

(1) fed (2) bd 

(3) feZd (4) vd 

93. ^vR;ar* 'kCn esa milxZ gS % 

(1) vfr (2) vr~ 

(3) mr~ (4) v 

94. ^v/kjkS"B* 'kCn dk lgh o.kZ&foPNsn gS % 

(1) v/kj + Å"B  

(2) v/k% + jks"B 

(3) v/kj + vks"B  

(4) v/kj + vksB 

95. ^nwljs dk izHkko Lohdkj djuk* Hkko ds fy, 
eqgkojk gS % 

(1) yksgs ds pus pckuk 

(2) flj ij dQu ck¡/kuk 

(3) yksgk ekuuk 

(4) flj ij [kwu lokj gksuk 
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96. ^e`R;q* 'kCn dk lgh o.kZ foPNsn gS % 

(1) e~+ + _ + r~+ + ;~+ + m 

(2) e~ + j~ + _ + r~+ + v + ;~+ + m 

(3) e~ + v +  _ + r~+ + ;~+ + m 

(4) e~ + j~ + b + r~ + v + ;~ + m 

97. ^fcuk iyd >idk,* okD;ka'k ds fy, ,d 
'kCn gksxk % 

(1) fujkfe"k  

(2) fufuZes"k 

(3) fuLi`g  

(4) fu"i{k 

98. ^ifjfpr* 'kCn esa izR;; gS % 

(1) r  

(2) fpr 

(3) br  

(4) bZr 

99. ^vpkud gksus okyh ?kVuk* ds fy, ,d 'kCn 
gS % 

(1) vkdfLed  

(2) ?kfVr 

(3) nq?kZVuk  

(4) vifjfpr 

100. fuEufyf[kr okD;ksa esa ls jpuk dh n`f"V ls 
ljy okD; gS % 

(1) vk¡/kh vkbZ rks dbZ isM+ fxj x,A 

(2) vk¡/kh vkus ls dbZ isM+ fxj x,A 

(3) dbZ isM+ fxj x, tc vk¡/kh vkbZA 

(4) tSls gh vk¡/kh vkbZ] dbZ isM+ fxj x,A 
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Direction : (Q. 51 to 53) 

Select the word which means the opposite of 

the given word. 

51. Annoy : 

(1) award  (2) please  

(3) praise  (4) applaud 

52. Inclined : 

(1) fair  (2) impartial   

(3) neutral  (4) biased 

53. confess : 

(1) concede   

(2) contest  

(3) deny   

(4) admit 

Direction : (Q. 54 & 55) 

Select the most appropriate option to fill in 

the blanks from the given alternatives. 

54. I …………. in a poor family of 

Haryana. 

(1) bear   

(2) am born  

(3) bore   

(4) was born 

55. Five hundred new houses ................. 

by the end of next year. 

(1) were built  

(2) were being built  

(3) will be built   

(4) will build 

Direction : (Q. 56 to 60) 

Read the following passage carefully and 

answer the questions based on it. Choose the 

most appropriate option. 

The capitalist system of society does not 

foster healthy relations among human 

beings. A few people own all the means of 

production and others – though nominally 

few have to sell their labour under 

conditions imposed upon them. The 

emphasis of capitalism being on the supreme 

importance of material wealth the intensity 

of its appeal is to the acquisitive intensity. It 

promotes worship of economic power with 

little regard to the means employed for its 

acquisition and the end that it serves. By its 

exploitation of human beings to the limits of 

endurance its concentration is on the largest 

profit rather than maximum production. 

Thus the division of human family is done 

on the basis of economic circumstance. All 

this is injurious to division of human 

dignity. And when the harrowed poor turn to 
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the founders of religion for succour, they 

rather offer a subtle defence for the 

established order. They promise future 

happiness for their present suffering and 

conjure up visions of paradise to redress the 

balance to soothe the suffering and the 

revolt of the tortured men. The system 

imposes injustice, the religion justifies it. 

56. Capitalism is injurious to human 

relations because it divides society 

into two groups : 

(1) working and non-working 

(2) exploiters and exploited 

(3) religious and irreligious 

(4) buyers and sellers 

57. In a capitalistic system of society each 

man wishes : 

(1) to acquire maximum wealth 

(2) to produce maximum wealth 

(3) to have visions of paradise 

(4) to soothe the sufferings of other 

58. In a capitalist system : 

(1) the means justify the ends 

(2) the ends justify the means 

(3) the means endorsed by religion 

are strictly followed 

(4) means which lead to exploitation 

are strictly prohibited 

59. The passage indicates that the 

capitalist system is : 

(1) fair 

(2) ambitious 

(3) prosperous 

(4) dehumanising 

60. The established order is supported by 

religion to : 

(1) alleviate the suffering of the poor 

in the capitalist system 

(2) perpetuate the injustice imposed 

by the capitalist system 

(3) balance the suffering of the poor 

with hopes of future rewards 

(4) help the tortured men to seek 

redress 

Direction : (Q. 61 to 65) 

Read the following poem carefully and 

answer the questions based on it. Choose the 

most appropriate option : 

I lay in sorrow, in deep distress; 

 My grief a proud man heard; 

His looks were cold, he gave me gold, 

 But not a kindly word. 

My sorrow passed – I paid him back 

  The gold he gave to me; 

Then stood erect and spoke my thanks 

 And blessed his charity. 

I lay in want, and grief and pain; 

 A poor man passed my way, 

He bound my head, he gave me bread, 

 He watched me night and day. 

How shall I pay him back again  

 For all he did to me ? 

Oh, gold is great, but greater far 

       Is heavenly sympathy. 
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61. How did the proud man help the poet 

when he was in deep distress ? 

(1) He took him home 

(2) He gave some money  

(3) He pitied the poet  

(4) He watched the poet day and 

night 

62. What was it the proud man did not 

give the poet ? 

(1) gold (2) sympathy 

(3) money  (4) attention 

63. How did the poor man take care of the 

poet ? 

(1) The poor man bound his head 

which was hurt 

(2) The poor man gave him food and 

gold 

(3) The poor man gave him some 

money 

(4) The poor man gave food to the 

poet and took care of him day and 

night 

64. Which of the following statement is 

not true ? 

(1) The poor man thanked the 

heavenly sympathy of the poet. 

(2) When the poet was in sorrow he 

was given money. 

(3) The poet repaid his debt to the 

proud man by blessing his 

charity.  

(4) The poet says he cannot repay the 

poor man for his sympathy. 

65. Which word in the poem means 

“feeling of pity or sorrow for the 

distress of another” ? 

(1) kindness (2) blessing 

(3) sympathy (4) charity 

Direction : (Q. 66 to 70) 

Read the following passage carefully and 

answer the questions based on it. Choose the 

most appropriate option : 

 It is becoming very dangerous to sit in 

the sun. If you have a fashionable suntan, it 

doesn't necessarily mean that you have lots 

of outdoor activities but it does mean that 

you are in greater danger of getting skin 

cancer and cataracts. The ozone layer, which 

protects us from the sun's dangerous 

ultraviolet rays, is progressively 

deteriorating. In February 1992, a scientific 

report said that people in Canada, Northern 

Europe and Russia were in serious danger. 

In 1985, the news of destruction of the ozone 

layer in the South Pole alarmed people in 

the Southern Hemisphere. In Australia, 

there are now three times more cases of skin 

cancer than in the past. In New Zealand, 

teachers tell school children to wear hats 

and not to sit in the sun. What causes the 

destruction of the ozone layer ? Mostly 

chlorofluorocarbons (CFCs), aerosol sprays, 

refrigerators, air conditioners, as well as 

industrial chemicals, send 

chlorofluorocarbons into the atmosphere. 

Governments are now trying very hard to 

forbid CFCs, but it will be expensive and 

difficult to do so. After the first ozone alarm 

in the Southern Hemisphere, ecologists all 

over the world asked governments to take 
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strict measures immediately. Some 

governments did, but not soon enough. 

Other countries believe that they have other 

problems which are more important. Now 

stricter measures are going to be taken, but 

already a lot of damage has been done. 

66. …………. dangerous to the skin. 

(1) The ozone layer is 

(2) The atmosphere is 

(3) Ultraviolet rays are 

(4) The sand storm is 

67. CFCs are caused by ………… . 

(1) researchers 

(2) ecologists 

(3) aerosol sprays and industries 

(4) archaeologists 

68. Fashionable suntan may ………… . 

(1) make you look dark 

(2) cause skin cancer and cataract 

(3) make you look beautiful  

(4) not be acceptable to all 

69. The author is not very  ………… . 

(1) clear (2) hopeless 

(3) hopeful (4) offensive 

70. The word 'deteriorate' in the passage 

means ………… . 

(1) to become healthy  

(2) to become worse 

(3) to become strong 

(4) to become healthy and strong 

Direction : (Q. 71 & 72)   The following five 

sentences come from a paragraph. The first 

and the last sentences are given. 

Choose the right order in which the three 

sentences (PQR) should appear to complete 

the paragraph. 

71. S1. The proverb goes, 'If speech is 

silver, silence is golden'. 

S2. …………………………………….. 

S3. …………………………………….. 

S4. …………………………………….. 

S5. We should talk when it is must. 

P – Above all, we should know when 

not to talk, how much to talk and 

what to talk. 

Q –  It is an extremely precious 

quality to know when to talk, how 

much to talk and what to talk. 

R – We should therefore always 

remember to use our tongue 

sparingly. 

Choose from the options given below : 

(1) PRQ 

(2) RPQ  

(3) RQP   

(4) PQR 
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72. S1. The great advantage of early 

rising is that one can start one's 

work long before others. 

S2. …………………………………….. 

S3. …………………………………….. 

S4. …………………………………….. 

S5. Also we find time to do some 

exercise in the fresh morning air.  

P –  The early risers can do a large 

amount of hard work before other 

men get out of bed. 

Q –  The work done at that time is 

generally well done.  

R –  In the early morning, the mind is 

fresh and no sounds or noises 

disturb our attention. 

Choose from the options given below : 

(1) PRQ 

(2) RPQ 

(3) RQP  

(4) QPR 

Direction : (Q. 73 to 75)  

Select the meaning of the given idioms. 

73. Bring to book 

(1) to punish   

(2) to write 

(3) to remember 

(4) to keep safe 

74. Cry for the moon 

(1) to weep on failure  

(2) to wish for something loving 

(3) to weep for a beautiful thing  

(4) to wish for something impossible 

75. Chalk and cheese 

(1) all white  

(2) different from each other 

(3) similar to each other  

(4) write and eat 

Direction : (Q. 76 to 85) Choose the word 

which best fills the blank from the given four 

options : 

76. The birth of a girl child in Indian 

society is an …………………. event. 

(1) unwelcomeness  

(2) unwelcome  

(3) unwelcomely   

(4) unwelcomingly 
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77. We should plant a ………….. number 

of trees to reduce the environmental 

pollution. 

(1) great  (2) big  

(3) large  (4) high 

78. The tireless work and selfless help of 

the people controlled the …………….. 

within a few days. 

(1) occasion  (2) event  

(3) situation  (4) incident 

79. Three children have been …………….. 

from the school for persistent bad 

behavior. 

(1) removed  (2) deleted  

(3) erased  (4) abolished 

80. Tanu Bhardwaj, a young poetess, has 

been receiving a lot of ……………….. 

publicity for her impressive poetry. 

(1) adorable  (2) adverse  

(3) additive  (4) averse 

81. The Kapil Sharma show has been 

…………. the best comedy show of the 

year. 

(1) valued  (2) rated  

(3) evaluated  (4) viewed 

82. The chief guest was …………. at the 

school gate by the principal and other 

staff members.  

(1) respected  (2) greeted 

(3) honoured  (4) welcomed 

83. All firsts of the baby are …………….. 

in the parents' memories.  

(1) written  (2) carved  

(3) inscribed (4) etched 

84. Market leaders usually want to 

……………. their market share even 

further, or at least to protect their 

current market share. 

(1) establish  

(2) increase  

(3) dominate  

(4) decrease 

85. Children grow up and eventually 

start leading their individual life 'a 

life that ………………….. to them'. 

(1) refers  

(2) belongs  

(3) relates  

(4) concerns 

Direction : (Q. 86 to 88) 

Fill in the blank choosing the most 

appropriate option (giving the similar 

meaning as shown in the options) from the 

given phrases : 

86. The police are …….…….. the robbery 

of a famous painting. 

(1) finding in  

(2) finding out 

(3) looking on  

(4) looking into 



 ( 33 ) A 

NTSE(Level-1) Exam. Nov. – 2017  P. T. O. 

87. You have missed many lessons, so 

now you will have to …….……… the 

other students. 

(1) catch up with 

(2) hurry up 

(3) learn with 

(4) mix with 

88. My brother's wedding was originally 

scheduled for May 14, but it has been 

………………… until November 24. 

(1) put up  

(2) put off 

(3) put away  

(4) put to 

Direction : (Q. 89 & 90) 

The following questions have the second 

sentence missing. Choose the appropriate 

sentence from the given option to complete it. 

89. i. Margaret travelled about with 

some of the missionaries of the 

Ramakrishna Mission and saw 

different parts of India. 

ii. …………………………………….. 

iii. She learnt the ways and manners 

of Indians. 

(1) This was something Margaret did. 

(2) This is simply impossible for us to 

think of. 

(3) She must have been some genius. 

(4) She visited different holy places 

in India. 

90. i. It has been observed that there is 

surge in crimes involving 

computers. 

ii. …………………………………….. 

iii. Computer crimes are fast and 

growing because the evolution of 

technology is fast, but the 

evolution of law is slow. 

(1) People commit computer crimes 

because of easy availability of 

computers. 

 (2) People commit computer crimes 

because of society's declining 

ethical standards more than any 

economic need. 

(3) People commit computer crimes 

because controls can't be 

implemented. 

(4) People commit computer crimes 

because it is not a national problem. 

Direction : (Q. 91 to 100) 

In the following passage there are some 

numbered blanks. Fill in the blanks by 

selecting the most appropriate word for each 

blank from the given options.  

An important task (91) ............ the youth can 

successfully undertake is to eliminate the 

curse of dowry. Dowry is responsible for a 

large number of deaths of innocent married 

girls and harassment (92) ............ the 

parents of the marriageable daughters. The 

birth of (93) ............ daughter in Indian 

society is an unwelcome event. It generates 

gloom and despair (94) ............ the parents 

simply because of the large dowry which will 

be required for marrying the girl. The youth, 
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(95) ............ boys and girls, can take a pledge 

not to give and accept dowry. Also they 

(96) ............ force their parents to stop this 

undesirable practice. This problem directly 

concerns the youth (97) ............ . Therefore 

they can easily fight it and (98) ............  lives 

from being lost. The youth in the cities can 

get in touch with the youth in the rural 

areas (99) ............ educate them with a view 

of creating a mass movement for the 

abolition of dowry. Where legal sanctions 

against dowry (100) ............, this social 

movement by the youth will prove effective. 

91. (1) this (2) that  

(3) who (4) what 

92. (1) to  (2) by  

(3) for  (4) of 

93. (1) any  (2) the  

(3) a (4) each 

94. (1) with  (2) to  

(3) among  (4) for 

95. (1) every (2) both  

(3) all (4) no 

96. (1) will  (2) can  

(3) might (4) ought 

97. (1) themselves (2) himself  

(3) herself (4) itself 

98. (1) can save  (2) saved  

(3) save (4) saves 

99. (1) yet  (2) and  

(3) although  (4) but 

100. (1) will nearly fail  

(2) had nearly failed  

(3) nearly failed  

(4) have nearly failed 
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PART – III ¼¼¼¼HkkxHkkxHkkxHkkx – III½½½½ 
SCHOLASTIC APTITUDE TEST 

'kSf{kd ;ksX;rk ijh{k.k'kSf{kd ;ksX;rk ijh{k.k'kSf{kd ;ksX;rk ijh{k.k'kSf{kd ;ksX;rk ijh{k.k    
  Questions : 101 to 200 

101. Which one of the following is made of 

only one type of macromolecule ? 

(1) Virus  

(2) Plasmid  

(3) Nucleosome  

(4) Ribosome 

  101. fuEufyf[kr esa ls dkSu dsoy ,d izdkj ds 

c`gr~ v.kq ls feydj cuk gS \ 

(1) fo"kk.kq 

(2) IyktfeM 

(3) U;wfDy;kslkse ¼dsafnzdk;½ 

(4) jkbckslkse 

102. Among carbohydrates, lipids, 

proteins and ATP, the relative energy 

yield in kcal/gm is best represented 

by : 

(1) Lipids > Carbohydrates > ATP  

(2) ATP > Lipids > Proteins 

(3) Lipids > ATP > Carbohydrates 

(4) Lipids > Proteins > ATP 

  

102. dkcksZgkbMªsV~l] olk] izksVhu rFkk ATP esa ls] 

lkis{kh ÅtkZ ds mRiknu dk fdyks dSyksjh izfr 

xzke esa lgh Øe gS % 

(1) olk > dkcksZgkbMªsV~l > ATP 

(2) ATP > olk > izksVhu 

(3) olk > ATP > dkcksZgkbMªsV~l 

(4) olk > izksVhu > ATP 

103. The sub units of ribosomes in cells of 

nephron of mouse are : 

(1) 50S & 30S  

(2) 40S & 23S  

(3) 70S & 16S  

(4) 60S & 40S 

  

103. pwgs ds o`Dd dh dksf'kdkvksa esa jkbckslkse dh 

bdkb;k¡ gksrh gSa % 

(1) 50S rFkk 30S  

(2) 40S rFkk 23S  

(3) 70S rFkk 16S  

(4) 60S rFkk 40S 
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104. Involuntary muscles are not found in :  

(1) Iris 

(2) bronchi of lung 

(3) tongue 

(4) heart 

  104. vuSfPNd ekalisf'k;k¡ ughaughaughaugha gksrh gSa % 

(1) iqryh esa 

(2) Qq¶Qql dh 'oklufy;ksa esa 

(3) thHk esa  

(4) ân; esa 

105. Different microorganisms taking part 

in nitrogen cycle are : 

i. Rhizobium in roots 

ii. Ammonifying bacteria   

iii. Nitrifying bacteria 

iv. Denitrifying bacteria 

Which of them strictly work under 

anaerobic conditions ? 

(1) only iv 

(2) i & iv 

(3) i, ii & iv 

(4) ii & iv 

  105. ukbVªkstu pØ esa Hkkx ysus okys lw{e tho 
gSa %  

i. tM+ksa esa mifLFkr jkbtksfc;e 

ii. veksuhdkjd thok.kq 

iii. ukbVªhdkjd thok.kq 

iv. foukbVªhdkjd thok.kq 

buesa ls dkSu&lk fodYi dsoy vukWDlhd`r 
ifjfLFkfr;ksa esa dk;Z djrk gS \ 

(1) dsoy iv 

(2) i vkSj iv 

(3) i, ii vkSj iv 

(4) ii vkSj iv 

106. The following pictures were drawn by 

a student to show different stages of 

binary fission : 

 

The correct sequence of these figures 

is : 

(1) iii, ii, iv, i 

(2) iii, iv, ii, i 

(3) ii, iii, iv, i 

(4) iv, iii, ii, i 

  106. ,d Nk= us vehck esa f}[kaMu ds fofHkUu 
pj.kksa dks n'kkZus ds fy, fuEufyf[kr vkjs[k 
cuk, % 

 

bu vkj[kksa dk lghlghlghlgh Øe gS % 
 
(1) iii, ii, iv, i 

(2) iii, iv, ii, i 

(3) ii, iii, iv, i 

(4) iv, iii, ii, i 
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107. Which of the following is not strictly 

considered as a part of neuron ? 

(1) Dendrite  

(2) Myelin sheath  

(3) Axon 

(4) Cell body 

  107. buesa ls dkSu&ls fodYi dk raf=dk dksf'kdk 
dk Hkkx gksuk vko';d ughughughugh aa aa gS \ 

(1) nzqfedk 

(2) ekbfyu dh ijr 

(3) raf=dk{k 

(4) dksf'kdk dk; 

108. Which of the following statement 

about autotrophs is incorrect ? 

(1) They synthesize carbohydrates 

from carbon dioxide and water. 

(2) They store carbohydrate in the 

form of starch. 

(3) They convert water & CO2 into 

carbohydrate only in the absence 

of light. 

(4) They constitute first trophic level 

in the food chain. 

  108. Lo;aiks"kh ds laca/k esa fuEu esa ls dkSu&lk 
dFku lghlghlghlgh    ughaughaughaugha gS \ 
(1) os dkcksZgkbMªsV~l la'ysf"kr djrs gSa 

dkcZuMkbvkWDlkbM rFkk ty lsA 

(2) os dkcksZgkbMªsV~l dks LVkpZ ds :i esa 
lafpr djrs gSaA 

(3) os CO2 rFkk H2O   dks dkcksZgkbMªsV~l 
esa la'ys"k.k dk dk;Z dsoy lw;Z dh 
vuqifLFkfr esa djrs gSaA 

(4) os vkgkj Ükà[kyk esa igys iks"kh Lrj ij 
gSaA 

109. Correct pathway of blood in 

circulatory system is : 

(1) atria → ventricles → artery →
veins 

(2) ventricles → atria → veins →
arteries 

(3) ventricles → veins → atria →
arteries 

(4) atria → arteries → ventricles →
veins 

  109. ifjlapj.k ra= esa jDr ds cgko dk lghlghlghlgh Øe 
gS % 
(1) vkfyan → fuy; → /keuh → f'kjk 
 
(2) fuy;  → vkfyan → f'kjk → /keuh 
 
(3) fuy; → f'kjk → vkfyan → /keuh 
 
(4) vkfyan → /keuh → fuy; → f'kjk 

110. Which of the following is essential for 

formation of thyroxine hormone in 

the thyroid gland ?   

(1) Sodium   

(2) Chloride 

(3) Potassium  

(4) Iodine 

  110. voVq xzafFk esa Fkk;jkWfDlu gkjeksu ds cuus ds 
fy, fuEufyf[kr  esa ls  D;k vko';d gS \ 
 
(1) lksfM;e  
(2) DyksjkbM 
(3) iksVSf'k;e  
(4) vk;ksMhu 
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111. In a given food chain if  frog has 

100 J of energy then the energy 

available with plants and snake 

respectively will be : 

Plants → Insect → Frog → Snake 
(1) 1000 J and 10 J 

(2) 10000 J and 10 J 

(3) 10 J and 1000 J 

(4) 1000 J and 100 J 

  111. nh xbZ vkgkj Ükà[kyk esa ;fn esa<d ds ikl 
100 J ÅtkZ gS rks ikS/kksa o lkai ds ikl 
Øe'k% miyC/k ÅtkZ gksxh % 
 

ikS/ks → dhV → esa<d → lkai 
(1) 1000 J rFkk 10 J 

(2) 10000 J rFkk 10 J 

(3) 10 J rFkk 1000 J 

(4) 1000 J rFkk 100 J 

112. Characters that are transmitted from 

parents to offspring during 

reproduction show : 

(1) Only similarities with parents  

(2) Only variations with parents 

(3) Both similarities and variation 

with parents 

(4) Neither similarities nor 

variations with parents 

  112. ekrk&firk ls larfr esa tkus okys xq.k iznf'kZr 
djrs gSa % 
 

(1) ekrk&firk ls dsoy lekurk 

(2) ekrk&firk ls dsoy fHkUurk 

(3) ekrk&firk ls lekurk o fHkUurk nksukas 
 

(4) ekrk&firk ls uk rks lekurk rFkk uk gh 
fHkUurk 

113. Rajiv was absent in class due to 

muscle pain which he claims was due 

to excess of physical exercise he has 

done yesterday. The pain is due to : 

(1) Formation of Pyruvic Acid 

(2) Formation of Acetic Acid  

(3) Formation of Lactic Acid 

(4) Formation of Hydrochloric Acid 

  113. ekalisf'k;ksa esa nnZ ds dkj.k jktho d{kk esa 
vuqifLFkr FkkA mlds vuqlkj vf/kd 'kkjhfjd 
O;k;ke ds dkj.k ,slk gqvkA nnZ dk dkj.k 
gS % 

(1) ikb:fod vEy dk cuuk 

(2) ,lhfVd vEy dk cuuk 

(3) ySfDVd vEy dk cuuk 

(4) gkbMªksDyksfjd vEy dk cuuk 

114. Which of the following constitutes a 

good food chain ?  

(1) Grass, Wheat, Mango 

(2) Grass, Goat, Lion  

(3) Goat, Cow, Elephant 

(4) Grass, Fish, Goat 

  114. fuEufyf[kr esa ls dkSu&lk lewg mfpr vkgkj 
Ükà[kyk dk fuekZ.k djrk gS \ 

(1) ?kkl] xsgaw] vke 

(2) ?kkl] cdjh] 'ksj 

(3) cdjh] xk;] gkFkh 

(4) ?kkl] eNyh] cdjh 
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115. Which has more number of particles ? 

(1) 46 g of Na atom 

(2) 8 g of O2 molecules 

(3) 0.1 mole of carbon atom 

(4) 28 g of N2 molecules 

  115. fdleas d.kksa dh la[;k vf/kd gS \ 

(1) 46 g  Na ijek.kq 

(2) 8 g  O2 v.kq 

(3) 0.1 eksy dkcZu ijek.kq 

(4) 28 g  N2 ukbVªkstu v.kq 

116. Choose the correct option about 

cheese : 

(1) Cheese is an example of emulsion 

in which dispersed phase is a 

liquid and dispersing medium is 

solid. 

(2) Example of gel in which 

dispersed phase is solid and 

dispersing medium is liquid. 

(3) Example of emulsion in which 

dispersed phase is solid and 

dispersing medium is liquid. 

(4) Example of gel in which 

dispersed phase is liquid and 

dispersing medium is solid. 

  116. iuhj ds lEcU/k esa lgh fodYi dk pquko 
djsa % 

(1) iuhj ,d beY'ku dk mnkgj.k gS ftleas 
ifj{ksfir izkoLFkk rjy gS vkSj ifj{ksi.k 
ek/;e ,d Bksl gSA 
 

(2) iuhj ,d tSy gS ftleas ifj{ksfir 
izkoLFkk Bksl gS vkSj ifj{ksi.k ek/;e 
,d rjy gSA 

(3) iuhj beY'ku dk mnkgj.k gS ftleas 
ifj{ksfir izkoLFkk Bksl gS vkSj ifj{ksi.k 
ek/;e ,d rjy gSA 

(4) tSy dk mnkgj.k gS ftlesa ifj{ksfir 
izkoLFkk ,d rjy gS vkSj ifj{ksi.k 
ek/;e ,d Bksl gSA 

117. If the aluminium salt of anion 'X' is 

Al2X3 the formula of magnesium salt 

of 'X' will be : 

(1) Mg2X 

(2) MgX2 

(3) MgX 

(4) Mg2X3 

  117. ;fn ,Y;qehfu;e  _.kk;u 'X' ds lkFk 
Al2X3 yo.k cukrk gS rks eSXuhf'k;e yo.k 
dk 'X' ds lkFk lw= gksxk % 

(1) Mg2X 

(2) MgX2 

(3) MgX 

(4) Mg2X3 
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118. On reacting a compound of calcium 

(x) with water compound (y) is 

obtained. (y) on boiling with NH4Cl a 

gas (z) is obtained. x, y, & z 

respectively are : 

(1) CaCO3, CaO, NH3 

(2) CaCO3, CaO, Cl2 

(3) CaO, CaCl2, Cl2 

(4) CaO, Ca(OH)2, NH3 

  118. dSfYl;e ds ,d ;kSfxd (x) dks ty ls 
vfHkfØ;k djkus ij ;kSfxd (y) izkIr gksrk gS 
(y) dks NH4Cl dss lkFk mckyus ij xSl (z) 
dk mRiknu gksrk gSA x, y, z Øe'k% gSa % 
 

(1) CaCO3, CaO, NH3 

(2) CaCO3, CaO, Cl2 

(3) CaO, CaCl2, Cl2 

(4) CaO, Ca(OH)2, NH3 

119. A metal x is placed below Al and 

above Pb. The extraction of metal is 

done by reacting carbon with its 

oxide. Metal oxide is used to join 

cracks of machine parts  and rail 

lines by reacting it with Al. The 

metal is : 

(1) Zn 

(2) Cu 

(3) Fe 

(4) Mg 

  119. /kkrq x lfØ;rk Js.kh esa Al ls uhps o Pb 
ds Åij fLFkr gS bl /kkrq dk fu"d"kZu /kkrq 
ds vkWDlkbM ls dkcZu dh vfHkfØ;k }kjk 
fd;k tkrk gS bl /kkrq vkWDlkbM dh Al ds 
lkFk vfHkfØ;k dk mi;ksx e'khuh iqtsZ o jsy 
dh iVfj;ksa dh njkjsa tksM+us esa fd;k tkrk gS] 
/kkrq gS % 
(1) Zn 

(2) Cu 

(3) Fe 

(4) Mg 

120. A colourless gas with choking smell is 

evolved when Cu turning are heated 

with Conc. H2SO4. The gas is : 

(1) SO2 

(2) SO3 

(3) H2S 

(4) S 

  120. tc rkacs dh drjuksa dks lkanz  H2SO4 ds 
lkFk xeZ fd;k tkrk gS rks ,d jaxghu ne& 
?kksVw xSl dk fuekZ.k gksrk gS] ;g xSl gS % 

(1) SO2 

(2) SO3 

(3) H2S 

(4) S 

121. Acetic acid is reduced with LiAlH4 to 

give : 

(1) CH3CH2OH 

(2) CH3CHO 

(3) CH3OH 

(4) CH3CH3 

  121. ,sflfVd vEy dks LiAlH4 ls vipf;r djus 
ij izkIr gksrk gS % 

(1) CH3CH2OH 

(2) CH3CHO 

(3) CH3OH 

(4) CH3CH3 
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122. Read the statements about carbon 

and choose correct option : 

A. It has small atomic size. 

B. Its melting & boiling point is low 

as compared to other members of 

group. 

C. It shows electropositive character. 

D. It shows maximum tendency of 

catenation. 

(1) A, B are correct 

(2) B, D are correct 

(3) A, C & D are correct 

(4) A & D are correct 

  122. dkcZu ds laca/k esa fuEufyf[kr dFkuksa dks 
if<+, vkSj lghlghlghlgh fodYi pqfu, % 
A. bldk ijek.kq vkdkj NksVk gSA 
B. bldk xyukad o DoFkukad xzqi ds vU; 

lnL;kas dh vis{kk de gSA 
C. ;g fo|qr/kukRed pfj= iznf'kZr djrk 

gSA 
D. ;g Ükà[kyu dh vf/kdre izo`fÙk iznf'kZr 

djrk gSA 
(1) A o B lgh gSa 
(2) B o D lgh gSa 
(3) A,C o D lgh gSa 
(4) A o D lgh gaS 

123. Which of the following metal is not 

placed in eighth group of Mendeleev 

periodic table ? 

(1) Fe (2) Na 

(3) Pt (4) Ni 

  123. fuEu esa ls dkSu&lh /kkrq esUMyho dh vkorZ 
lkj.kh ds vkBosa oxZ esa ughaughaughaugha j[kh gS \ 
 
(1) Fe (2) Na 

(3) Pt (4) Ni 

124. Baking powder is a mixture of : 

(1) Sodium carbonate & Sodium 

hydrogen carbonate 

(2) Sodium carbonate & Acetic acid  

(3) Sodium hydrogen carbonate & 

methanoic acid 

(4) Sodium hydrogen carbonate & 

tarteric acid 

  124. csfdax ikmMj ,d feJ.k gS % 
(1) lksfM;e dkcksZusV o lksfM;e gkbMªkstu 

dkcksZusV dk 
(2) lksfM;e  dkcksZusV o ,slhfVd vEy dk 
(3) lksfM;e gkbMªkstu dkcksZusV o ehFkkuksbd 

vEy dk 
(4) lksfM;e gkbMªkstu dkcksZusV o VkjVsfjd 

vEy dk 

125. Which of the following elements form 

acidic oxide ? 

A. Element with atomic no. 7 

B. Element with atomic no. 3 

C. Element with atomic no. 15 

D. Element with atomic no. 19 

(1) A & B (2) A & C  

(3) B & D (4) Only A 

  125. fuEu esa ls dkSu&ls rRo vEyh; vkWDlkbM 
cukrs gSa \ 

A. rRo ftldk ijek.kq Øekad 7 gS 

B. rRo ftldk ijek.kq Øekad 3 gS 

C. rRo ftldk ijek.kq Øekad 15 gS 

D. rRo ftldk ijek.kq Øekad 19 gS 

(1)  A vkSj B (2)  A vkSj C 

(3)  B vkSj D (4)  dsoy A  
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126. KMnO4 is a strong oxidising agent in 

acidic medium. To provide acidic 

medium H2SO4 is used instead of HCl 

because : 

(1) H2SO4 is stronger acid than HCl 

(2) H2SO4 is a dibasic acid  

(3) HCl is oxidised by KMnO4 to Cl2 

 

(4) Only H2SO4 is completely ionized 

  126. KMnO4 vEyh; ek/;e esa ,d izcy 
vkWDlhdkjd gSA vEyh; ek/;e mRiUu djus  
ds fy, HCl ds LFkku ij H2SO4 dk 
mi;ksx fd;k tkrk gS D;ksafd % 

(1) H2SO4, HCl dh vis{kk izcy vEy gS 

(2) H2SO4 ,d Mkbcsfld vEy gS 

(3) KMnO4, HCl dks Cl2 esa vkWDlhd`r 
dj nsrk gS 

(4) dsoy H2SO4 iw.kZr;k vk;uhd`r gksrk gS 

127. Consider the two statements below 

one labelled as Assertion (A) and 

other as Reason (R). Examine these 

two statements carefully and decide if 

Assertion (A) and Reason (R) 

individually true and if so (R) is a 

correct explanation of (A) select your 

answer using the code given below : 

Assertion (A) : CO2 is a gas but SiO2 

is a solid at room temperature. 

Reason (R) : CO2 contain C = O 

bonds but SiO2 does not contain 

Si = O bonds. 

(1) Both A & R are true and R is a 

correct explanation of A 

(2) Both A & R are true but R is not 

correct explanation of A  

(3) A is true R is false 

(4) A is false R is true 

  127. iz'u esa nks dFku fn, x;s gSa buesa ls ,d 
vfHkdFku (A) gS rFkk nwljk fu"d"kZ (R) gSA 
dFkuksa dks /;kuiwoZd i<+us ds ckn ;g fu.kZ; 
djsa fd D;k vfHkdFku (A) rFkk (R) fu"d"kZ 
vyx vyx lR; gSa rFkk fu"d"kZ vfHkdFku 
dh lgh O;k[;k gSA uhps fn, x;s dksM ds 
v/kkj ij vius mÙkj pqusa % 
 
vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) :  CO2 ,d xSl gS ijUrq 
dejs ds rkieku ij SiO2 ,d Bksl gSA 
fu"d"kZ fu"d"kZ fu"d"kZ fu"d"kZ (R) : CO2 esa C = O ca/k gksrs gSa 
ijUrq SiO2 esa Si = O ca/k ugha gksrsA  

 

(1) A rFkk R nksuksa lR; gSa rFkk R, A dh 
lgh O;k[;k gS  

(2) A rFkk R nksuksa lR; gSa fdUrq R, A dh 
lgh O;k[;k ugha gS 

(3) A lR; gS fdUrq R vlR; gS  

(4) A vlR; gS fdUrq R lR; gS 

128. Trippling the speed of a motor car 

multiplies the distance needed for 

stopping it by : 

(1) 3 (2) 6 

(3) 9 (4) 12 

  128. fdlh dkj dk osx rhu xq.kk c<+kus ij mldks 
jksds tkus okyh nwjh fdrus xq.kk c<+ tkrh 
gS \ 

(1) 3 (2) 6 

(3) 9 (4) 12 
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129. Two bodies of masses ma and mb are 

dropped from different heights 'a' and 

'b'. The ratio of time taken by them to 

reach the ground is : 

 

(1) ba :  (2) a : b 

(3) 
ba

1
:

1
 (4) ma : mb 

  
129. nks oLrq,¡ ftudk nzO;eku ma rFkk mb gS 

rFkk mudks vyx&vyx Å¡pkb;ksa 'a' rFkk 'b' 
ls ,d lkFk NksM+k x;kA lrg ij igq¡pus ds 
fy, muds }kjk fy, x, le; dk vuqikr 
gksxk % 
(1) ba :  (2) a : b 

(3) 
ba

1
:

1
 (4) ma : mb 

130. A person throws ball with a velocity 

'v' from top of a building in vertically 

upward direction. The ball reaches 

the ground with a speed of '3v'. The 

height of the building is : 

(1) 
g

v24
 (2) 

g

v23
 

(3) 
g

v26
 (4) 

g

v29
 

  
130. ,d O;fDr xsan dks bekjr dh Nr ls lh/kk 

Åij dh vksj  'v'  osx ls Qsadrk gSA xsan 
/kjrh dh lrg ij '3v' ds osx ls fxjrh gSA 
ml  bekjr dh Å¡pkbZ gksxh % 
 

(1) 
g

v24
 (2) 

g

v23
 

(3) 
g

v26
 (4) 

g

v29
 

131. A bottle full of water containing an 

air bubble is rotated in horizontal 

circle by a string tied to the  neck of 

the bottle. Then air bubble will : 

(1)  be collected at bottom 

(2) remain unaffected  

(3) be collected at the wall of bottle 

(4) be collected at the neck 

  
131. ikuh ls Hkjh ,d cksry dks ftlesa gok dk 

,d cqycqyk gS] ds Åijh fljs dks jLlh ls 
ck¡/k dj {kSfrt o`Ùk esa ?kqek;k x;kA cqycqys 
dh fLFkfr D;k gksxh \ 
(1) cksry ds ry ij pyk tk;sxk  
(2) fLFkfr esa dksbZ ifjorZu ugha gksxk 
(3) cksry dh nhokj ds lkFk gh jgsxk  
(4) cksry ds Åijh fljs ij pyk tk;sxk 

132. Three voltmeters all having different 

resistances are joined as shown. 

When some potential difference is 

applied across A and B, then readings 

in voltmeter are V1, V2 and V3 : 

 

(1) V1 = V2 (2) V1 < V2 

(3) V1 + V2 = V3 (4) V1 + V2 > V3 

  
132. rhu oksYVehVj ftudh izfrjks/kdrk dk eku 

fHkUu gS] dks n'kkZ, x, fp= ds vuqlkj tksM+k 
x;k gSA tc fljs A rFkk B ds e/; dqy 
foHkokUrj yxk;k x;k rks oksYVehVj ikB~;kad 
dk eku V1, V2, rFkk V3 vk;k % 

 

(1) V1 = V2 (2) V1 < V2 

(3) V1 + V2 = V3 (4) V1 + V2 > V3 
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133. What is potential difference across 

AB ? 

 

(1) 24 V (2) 0 V 

(3) 6 V (4) 18 V 

  133. AB fljksa ds e/; fo|qr foHkokUrj dk eku 
D;k gksxk \ 

 

(1) 24 V (2) 0 V 

(3) 6 V (4) 18 V 

134. Three equal resistors connected in 

series across a source of emf dissipate 

10 watt. If the same resistors are 

connected in parallel across the same 

emf, the power dissipated will be : 

(1) 10 watt (2) 30 watt 

(3) 
3

10
 watt (4) 90 watt 

  134. rhu cjkcj eku ds izfrjks/kdksa ds Js.khØe esa 
fdlh fo|qr òksr ls tksM+us ij ÅtkZ [kir dh 
nj 10 okV gSA vxj bUgha izfrjks/kdksa dks 
lkekUrj Øe esa mlh fo|qr òksr ds lkFk 
tksM+ fn;k tk,] rks ÅtkZ [kir dh nj gksxh % 

(1) 10 okV (2) 30 okV 

(3) 
3

10
 okV (4) 90 okV 

135. A long wire carries a steady current. 

It is then bent into a circle of one 

turn  and magnetic field at the centre 

of coil is B. Then it is bent into           

n-turns. Magnetic field at centre of 

coil will be : 

 

(1) 2n2B (2) 2nB 

(3) n2B (4) nB 

  135. ,d yEch lqpkyd rkj esa fo|qr dk lrr~ 
izokg gks jgk gSA bl rkj dks o`Ùkkdkj ik'k esa 
yisVus ij blds dsUnz ij pqEcdh; {ks= dk 
ifjek.k B vkrk gSA vxj blh rkj dks 
n&Qsjksa okyh o`Ùkkdkj dq.Myh ds :i esa yisV 
fn;k tk,] rks bl dq.Myh ds dsUnz ij 
pqEcdh; {ks= ifjek.k dk eku gksxk % 

(1) 2n2B (2) 2nB 

(3) n2B (4) nB 

136. If 'p' and 'q' are distance of object and 

image from principal focus of a 

concave mirror then what is the 

relation between 'p', 'q' and 'f ' ? 

(1) pq = f  

(2) pq = f 

(3) pq = f 2 

(4) pq = 
f

1
 

  136. ,d vory niZ.k ds Qksdl fcUnq ls oLrq 
rFkk izfrfcac dh nwjh 'p' rFkk 'q' gSA 'p', 'q'  
rFkk 'f ' ds chp esa laca/k gksxk % 
 

(1) pq = f  

(2) pq = f 

(3) pq = f 2 

(4) pq = 
f

1  
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137. When the object is at distances u1 

and u2 from a lens, a real and virtual 

images are formed respectively 

having the same magnification. The 

focal length of lens is : 

(1) 
2

2
1

u
u +  (2) 

2

21 uu −
 

(3) 
2

21 uu +
 (4) u1 + u2 

  137. fdlh oLrq dks ,d ySal ls u1  rFkk u2 nwjh 
ij j[kus ij okLrfod ,oa vkHkklh izfrfcac 
curk gS rFkk vko/kZu dk eku Hkh ,d leku 
vkrk gSA ySal dh Qksdl nwjh fdruh gksxh \ 
 

(1) 
2

2
1

u
u +  (2) 

2

21 uu −
 

(3) 
2

21 uu +
 (4) u1 + u2 

138. A pump motor is used to deliver 

water at a certain rate from a given 

pipe. To obtain twice as much water 

from the same pipe in same time, 

power of motor has to be increased : 

(1) 16 times (2) 4 times 

(3) 8 times (4) 2 times 

  138. ,d iEi eksVj ,d fn, gq, ikbi ls fdlh 
nj ls ikuh dks p<+krh gSA vxj mlh ikbi ls 
mrus gh le; esa nqxuk ikuh p<+k;k tk,] rks 
eksVj dh 'kfDr ¼ikoj½ dks c<+kuk iM+sxk % 
 
(1) 16 xq.kk (2) 4 xq.kk 
(3) 8 xq.kk (4) 2 xq.kk 

139. Ultrasonic, infrasonic and 

audiowaves travel through a medium 

with speeds v1, v2 and v3 respectively. 

Then : 

(1) v1, v2 and v3 are nearly equal 

(2) v1 ≥ v3 ≥ v2 

(3) v1 ≤ v3 ≤ v2 

(4) v3 << v1 and v1 ≃ v2 

  139. ijk/ofu] voJO; /ofu rFkk JO; /ofu rajxsa 
fdlh ek/;e esa v1, v2 rFkk v3 osx ls pyrh 
gSaA bl fLFkfr esa % 
(1) v1, v2 rFkk v3 dk eku yxHkx leku 

gksxk 
(2) v1 ≥ v3 ≥ v2 

(3) v1 ≤ v3 ≤ v2 

(4) v3 << v1 ,oa v1 ≃ v2 

140. The magnetic field lines due to a bar 

magnet are correctly shown in : 

 

(1) a (2) b 

(3) c (4) d 

  140. fdl fp= esa NM+ pqEcd ds pqEcdh; {ks= 
js[kkvkas dk lgh fu:i.k n'kkZ;k x;k gS \ 

 

(1) a (2) b 

(3) c (4) d 
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141. Non Co-operation movement  was 

withdrawn due to : 

(1) Jallian Wala Bagh Masscare  

(2) Chauri-Chaura incident 

(3) Rowlatt Act introduced  

(4) Nehru Reports Rejection 

  141. fuEu fdl dkj.k ls vlg;ksx vkUnksyu 
okfil fy;k x;k \ 

(1) tfy;k¡okyk ckx gR;kdkaM 

(2) pkSjh&pkSjk ?kVuk 

(3) jkWysV ,sDV ykxw gqvk 

(4) usg: fjiksVZ bUdkj gqbZ 

142. The term 'Liberalism' is derived from 

the 'Latin' word 'Liber' meaning : 

 

(1) Democratic 

(2) Capitalist 

(3) Socialist 

(4) Free 

  142. ^mnkjrkokn* (Liberalism) 'kCn ySfVu ds 
'kCn ^mnkj* (Liber) ls fy;k x;k ftldk 
vFkZ gS % 

(1) yksdrkfU=d 

(2) iw¡thokn 

(3) lektokn 

(4) vkt+kn 

143. The French Revolution occured in 

which following year ? 

(1) 1788 (2) 1789 

(3) 1790 (4) 1791 

  143. fuEu fdl o"kZ es Ýkalhlh ØkfUr gqbZ \ 
 

(1) 1788 (2) 1789 

(3) 1790 (4) 1791 

144. Who was the chief architect of the 

unification of Germany ? 

(1) Chief Minister William - I 

(2) King William - II 

(3) Chief Minister Ottovon Bismarck 

(4) King Kaisar 

  144. teZuh ds ,dhdj.k dk Js; fuEu esa ls 
fdldks tkrk gS \ 

(1) eq[; ea=h foy;e - I 

(2) jktk fofy;e - II 

(3) eq[; ea=h vkWVksou fcLekdZ 

(4) jktk dSlj 

145.  Who among the following was 

described as the most dangerous 

enemy of social order by Duke 

Metternich ? 

(1) Louis Philippe 

(2) Karol Kurpinski 

(3) Johan Gottfried 

(4) Guiseppe Mazzini 

  145.  M~;wd eSVjfud us fuEu ls fdldks lkekftd 
flyflys dk lcls [krjukd nq'eu dgk \ 
 
 

(1) yqbZ fQfyi 

(2) dSjy dqjfiaLdh 

(3) tksgku xksVfÝM 

(4) fxlqih esftuh 
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146. The elites in Vietnam were 

powerfully influenced   by which 

following culture ? 

(1) Indian   

(2) American 

(3) European  

(4) Chinese 

  146. fo;ruke ds QS'ku ijLr fuEu fdl lH;rk 
ls izHkkfor Fks \ 
 

(1) Hkkjrh;   

(2) vejhdh 

(3) ;wjksfi;u  

(4) pkbuht 

147. Who was the founder of Hoa Hao 

movement ? 

(1) Huynh Phu So 

(2) Phan Boi Chau 

(3) Phan Chu Trinch 

(4) The official of Imperial court 

  147. gkSvk gkÅ vkUnksyu ds laLFkkid dkSu Fks \ 
 

(1) gq;Ug Qw lks 

(2) QkWu cksbZ Nw 

(3) QkWu Nw fVªap 

(4) 'kkgh dksVZ dk vQlj 

148. In January 1930 Gandhi ji wrote a 

letter stating (asking) 'Eleven 

Demands' to whom ? 

(1) Lord Irwin 

(2) Lord Curzon 

(3) Lord Ripon 

(4) Lord Lytton 

  148. 1930 esa xk¡/kh th us fuEu eas ls fdls ^X;kjg 
ek¡xksa* dk i= fy[kk \ 
 

(1) YkkWMZ bjfou 

(2) ykWMZ dtZu 

(3) ykWMZ fjiu 

(4) ykWMZ fyVu 

149. Who was the first President of Indian 

National Congress ? 

(1) Dada Bhai Naroji 

(2) Surendranath Banerjee 

(3) W.C. Bonnerjee 

(4) Gopal Krishna Gokhale 

  149. Hkkjrh; jk"Vªh; dkaxzsl ds igys izslhMsUV dkSu 
Fks \ 

(1) nknk HkkbZ ukSjksth 

(2) lqjsUnzukFk cSuthZ 

(3) MCY;w- lh- cuthZ 

(4) xksiky d`".k xks[kys 

150. What was the theme of the movie 

'Green Beret' ? 

(1) To Glorify War 

(2) To Glorify Peace 

(3) To Glorify Socialism 

(4) To Glorify Capitalism 

  150. ^xzhu cSjsV* fQYe dk eq[; eqn~nk D;k 
Fkk \ 

(1) ;q) dh 'kku 

(2) 'kkfUr dh 'kku 

(3) lektokn dh 'kku 

(4) iw¡thokn dh 'kku 
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151. Who is the writer of 'Vande 

Mataram' ? 

(1) Rabindranath Tagore 

(2) Subhash Chandra Bose 

(3) Raja Ravi Verma 

(4) Bankim Chandra Chatterjee 

(Chattopadhyay) 

  151. ^oUns ekrje* ds ys[kd dkSu gSa \ 
 

(1) jfcUnzukFk VSxksj 

(2) lqHkk"k pUnz cksl 

(3) jktk jfo oekZ 

(4) cafde pUnz pSVthZ ¼pV~Vksik/;k;½ 

152. 'Trade Unions' first started in which 

of the following country ? 

(1) England (2) America 

(3) France (4) Russia 

  152. VªsM ;wfu;u fuEu esa ls fdl ns'k esa 'kq: 
¼vkjEHk½ gqbZ \ 

(1) baXySaM (2) vesfjdk 

(3) Ýkal (4) jfl;k ¼:l½ 

153. Under which of the following type of 

resource can tidal energy be put ? 

(1) Replenishable 

(2) Human made 

(3) Abiotic 

(4) Non-recyclable 

  153. Tokjh; ÅtkZ fuEufyf[kr esa ls fdl izdkj dk 
lalk/ku gS \ 

(1) iqu% iwfrZ ;ksX; 

(2) ekuod`r 

(3) vtSo 

(4) vpØh; 

154. In which of the following state is 

laterite soil found ? 

(1) Jammu and Kashmir 

(2) Kerala  

(3) Uttarakhand 

(4) Jharkhand 

  154. buesa ls fdl jkT; esa ysVjkbV e`nk ikbZ tkrh 
gS \ 

(1) tEew vkSj d'ehj 

(2) dsjy 

(3) mÙkjk[k.M 

(4) >kj[k.M 

155. Which of the following describes a 

system of agriculture where a single 

crop is grown on a large area ? 

(1) Shifting Agriculture 

(2) Plantation Agriculture 

(3) Horticulture 

(4) Intensive Agriculture 

  155. fuEufyf[kr esa ls dkSu&lk ml d`f"k iz.kkyh 
dks n'kkZrk gS ftlesa ,d gh Qly yacs pkSM+s 
{ks= esa mxkbZ tkrh gS \ 

(1)  LFkkukarjh d`f"k 

(2)  ckxokuh 

(3)  jksi.k d`f"k 

(4)  xgu d`f"k 
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156. Which two of the  following extreme 

locations are connected by the east - 

west corridor ? 

(1) Mumbai and Nagpur 

(2) Mumbai and Kolkata 

(3) Silcher and Porbandar 

(4) Nagpur and Siliguri 

  156. fuEu esa ls dkSu&ls nks nwjLFk fLFkr LFkku 
iwohZ&if'peh xfy;kjs ls tqM+s gSa \ 
 
(1)  eqacbZ rFkk ukxiqj 
(2)  eqacbZ vkSj dksydkrk 
(3) flypj vkSj iksjcanj 
(4)  ukxiqj rFkk flfyxqM+h 

157. Which of the following ports is the 

deepest land-locked and well 

protected port along the east-coast ? 

(1) Chennai 

(2) Tuticorin  

(3) Paradip 

(4) Visakhapatnam 

  157. buesa ls dkSu&lk iÙku iwohZ rV ij fLFkr gS 
tks var% LFkyh; rFkk vf/kdre xgjkbZ dk 
iÙku gS rFkk iw.kZ lqjf{kr gS \ 
(1)  psUubZ 
(2)  rwrhdksfju 
(3)  ikjknhi 
(4)  fo'kk[kkiV~ue 

158. Which one of the following agencies 

market steel for the public sector 

plants ? 

(1) HAIL (2) SAIL 

(3) TATA STEEL (4) MNCC 

  158. fuEu ls dkSu&lh ,tsalh lkoZtfud {ks= esa 
LVhy dks cktkj essa miyC/k djkrh gS \ 
 
(1)  gsy (HAIL) (2)  lsy (SAIL) 
(3)  VkVk LVhy (4)  ,e-,u-lh-lh 

159. Which of the following mineral found 

in  monazite sands ? 

(1) Mineral oil (2) Uranium 

(3) Thorium (4) Coal 

  159. eksuktkbV jsr esa fuEufyf[kr esa ls dkSu&lk 
[kfut ik;k tkrk gS \ 
(1)  [kfut rsy (2)  ;wjsfu;e 
(3)  Fkksfj;e  (4)  dks;yk 

160. Which one of the following statement 

is not true ? 

(1) Mica can be clear, black, green, 

red, yellow or brown. 

(2) Limestone is found associated 

with composed of calcium 

carbonates or calcium and 

magnesium carbonates. 

(3)  Aluminium has good conductivity 

and great malleability. 

(4)  Generally minerals are not found 

in 'ore'. 

  160. fuEu esa ls dkSu&lk dFku lgh ughaughaughaugha gS \ 
 
(1)  vHkzd ikjn'khZ] dkys] gjs] yky] ihys 

vFkok Hkwjs jax dk gks ldrk gSA  
(2)  pwuk iRFkj dSfYl;e ;k dSfYl;e 

dkcksZusV rFkk eSxuhf'k;e dkcksZusV ls 
cuh pV~Vkuksa esa ik;k tkrk gSA 
 

(3)  ,Y;wfefu;e esa vR;f/kd pkydrk o 
/kkRo/;Zrk ikbZ tkrh gSA 

(4)  lkekU;r% [kfut ^v;Ldksa* esa ugha ik, 
tkrs gSaA 
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161. Match the following : 

1. salt water lake 

in India  

(i) Barren 

island 

2. active volcano in 

India  

(ii) Pitli island 

3. Island which is 

uninhabited 

(iii) Majuli 

4. A river island 

situated in river 

Brahmaputra 

(iv) Chilka 

(1) 1–iv, 2–ii, 3–i, 4–iii  

(2) 1–iv, 2–i, 3–ii, 4–iii 

(3) 1–iii, 2–ii, 3–iv, 4–i 

(4) 1–ii, 2–i, 3–iii, 4–iv 

  161. mfpr feyku dhft, %  
1. Hkkjr esa [kkjs 

ikuh dh >hy  
(i) cSju ¼catj½ 

}hi ij 
2. Hkkjr esa lfØ; 

Tokykeq[kh 
(ii) fiVyh }hi 

3. }hi tgk¡ euq"; 
dk fuokl ugha 
gS  

(iii) ektksyh 

4. czãiq= unh esa 
fLFkr unh; }hi 

(iv) fpYdk 

(1) 1–iv, 2–ii, 3–i, 4–iii  

(2) 1–iv, 2–i, 3–ii, 4–iii 

(3) 1–iii, 2–ii, 3–iv, 4–i 

(4) 1–ii, 2–i, 3–iii, 4–iv 

162. Himalayas have been divided on the 

basis of regions from west to east. 

Which is known as : 

1. The part of 

Himalayas 

lying between 

Indus and 

Sutluj 

(i) Kumaon  

Himalayas  

2. The part of 

Himalayas 

lying between 

Sutluj and 

Kali 

(ii) Punjab 

Himalayas 

3. The part lying 

between Tista 

and Dihang 

 

(iii) Nepal 

Himalayas 

4. The part lying 

between Kali 

and Tista 

(iv) Assam 

Himalayas 

(1) 1–i, 2–ii, 3–iii, 4–iv 

(2) 1–iv, 2–iii, 3–ii, 4–i 

(3) 1–ii, 2–i, 3–iv, 4–iii 

(4) 1–iii, 2–ii, 3–i, 4–iv 

  
162. fgeky; dks if'pe ls iwoZ rd fLFkr {ks=ksa ds 

vk/kkj ij foHkkftr fd;k x;k gSA ftldks 
tkuk tkrk gS % 
1. lryqt ,oa 

fla/kq ds chp 
fLFkr fgeky; 
ds Hkkx dks  

(i) dqekÅ¡ fgeky; 

2. lryqt rFkk 
dkyh ufn;ksa ds 
chp fLFkr 
fgeky; ds 
Hkkx dks 

(ii) iatkc fgeky; 

3. frLrk rFkk 
fngkax ufn;ksa 
ds chp ds Hkkx 
dks 

(iii) usiky fgeky; 

4. dkyh rFkk 
frLrk ufn;ksa 
ds chp ds Hkkx 
dks 

(iv) vle fgeky; 

(1) 1–i, 2–ii, 3–iii, 4–iv 

(2) 1–iv, 2–iii, 3–ii, 4–i 

(3) 1–ii, 2–i, 3–iv, 4–iii 

(4) 1–iii, 2–ii, 3–i, 4–iv 
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163. Match list 1 (River) and list 2 (Dam) 

and select the correct answer using 

the code given below : 

List 1 

(River) 

List 2 

(Dam) 

1. Mahanadi (i) Nagarjun 

2. Krishna (ii) Mettur 

3. Sutluj (iii) Hirakud 

4. Kaveri (iv) Bhakhra 

Nangal 

(1) 1–i, 2–ii, 3–iv, 4–iii 

(2) 1–ii, 2–iii, 3–iv, 4–i 

(3) 1–iv, 2–ii, 3–i, 4–iii 

(4) 1–iii, 2–i, 3–iv, 4–ii 

  
163. rkfydk 1 (unh) dks rkfydk 2 (cka/k) ds lkFk 

feykb;s rFkk fn, x, dksM dk iz;ksx djrs 
gq, lghlghlghlgh mÙkj dk p;u dhft, % 

rkfydk rkfydk rkfydk rkfydk 1 
(unhunhunhunh) 

rkfydk rkfydk rkfydk rkfydk 2 
(cka/kcka/kcka/kcka/k) 

1. egkunh (i) ukxktqZu 

2. d`".kk (ii) esrwj 

3. lryqt (iii) ghjkdqM 

4. dkosjh (iv) Hkk[kM+k ukaxy 
 

(1) 1–i, 2–ii, 3–iv, 4–iii 

(2) 1–ii, 2–iii, 3–iv, 4–i 

(3) 1–iv, 2–ii, 3–i, 4–iii 

(4) 1–iii, 2–i, 3–iv, 4–ii 

164. Match the following animals with 

their category of existence and select 

the correct answer using the code 

given below : 

Animals Category of 

existence 

1. Black Buck (i) Extinct 

2. Asiatic 

Elephant 

(ii) Endangered 

3. Andman 

wild pig 

(iii) Vulnerable 

4. Pink Head 

Duck 

(iv) Endemic 

(1) 1–ii, 2–iii, 3–iv, 4–i 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–iv, 2–iii, 3–ii, 4–i 

(4) 1–iii, 2–ii, 3–i, 4–iv 

  164. fuEufyf[kr tkuojksa dk muds vfLrRo ds oxZ 
ls esy djsa rFkk fn, x, dksM dk iz;ksx djrs 
gq, lghlghlghlgh mÙkj dk p;u dhft, % 
 

tkuojtkuojtkuojtkuoj    vfLrRo oxvfLrRo oxvfLrRo oxvfLrRo oxZZZZ    

1. dkyk fgj.k (i) yqIr 

2. ,f'k;kbZ gkFkh 
 

(ii) ladV xzLr 

3. vaMeku taxyh 
lwvj 

(iii) lqHks| ¼pisV esa½ 

4. xqykch fljokyh 
cÙk[k 
 

(iv) LFkkfud  

(1) 1–ii, 2–iii, 3–iv, 4–i 

(2) 1–i, 2–ii, 3–iii, 4–iv 

(3) 1–iv, 2–iii, 3–ii, 4–i 

(4) 1–iii, 2–ii, 3–i, 4–iv 



A ( 52 ) 

NTSE(Level-1) Exam. Nov. – 2017   

165. Which of the following book is written 

by Kautilya ? 

(1) Politics  

(2) Civil Government  

(3) Arthashastra 

(4) The Prince 

  
165. dkSfVY; us fuEu esa ls dkSu&lh iqLrd 

fy[kh \ 

(1)  ikWfyfVDl 

(2)  flfoy xouZesaV 

(3)  vFkZ'kkL= 

(4)  nh fizal 

166. Which of the following state does not 

have coalition  government ? 

(1) Bihar 

(2) Jammu-Kashmir 

(3) Goa 

(4) Orissa 

  
166. fuEu esa ls fdl jkT; esa feyh&tqyh ljdkj 

ughaughaughaugha gS \ 

(1)  fcgkj 

(2)  tEew&d'ehj 

(3)  xksok 

(4)  mM+hlk 

167. Which of the following nation has 

parliamentary government but is not 

republic ? 

(1) India (2) U.K. 

(3) China (4) Nepal 

  167. fuEu esa ls fdl jk"Vª esa lalnh; ljdkj gS 
ijUrq x.krU= ughaughaughaugha gS \ 
 

(1)  Hkkjr (2)  fczVsu  

(3)  phu (4)  usiky 

168. Personalities of which of the  

following group do not match in their 

positions ?  

(1) Pt. Jawaharlal Nehru, V. P. 

Singh and Dr. S. Radhakrishnan  

(2) Dr. Rajendra Prasad, Dr. V. V. 

Giri and Dr. Fakhruddin Ali 

Ahmed 

(3) Lal Bahadur Shastri, Narsimha 

Rao and Manmohan Singh 

(4) Lala Lajpat Rai, Bal Gangadhar 

Tilak and Bipin Chandra Pal 

  168. fuEu lewgkas esa ls vafdr O;fDr fdl lewg esa 
viuh igpku ds vk/kkj ij vkil esa esy 
ughaughaughaugha j[krs \ 

(1)  iafMr tokgjyky usg:] oh- ih- flag o 
Mk- ,l- jk/kkd`".ku 

(2)  Mk- jktsUnz izlkn] Mk- oh- oh- fxjh o 
Mk- Q[k:íhu vyh vgen 
 

(3)  yky cgknqj 'kkL=h] ujflEgk jko o 
eueksgu flag 

(4) ykyk yktir jk;] cky xaxk/kj fryd o 
fcfiu pUnz iky 
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169. Which article of Indian constitution 

abolishes untouchablity  ? 

(1) Art. 19  (2) Art. 17 

(3) Art. 21 (4) Art. 23 

  169. lafo/kku dk dkSu&lk vuqPNsn NqvkNwr dks nwj 
djrk gS \ 

(1)  vuqPNsn 19 (2)  vuqPNsn 17 

(3)  vuqPNsn 21 (4)  vuqPNsn 23 

170. Which of the following statements are 

correct ? 

i.  India is secular. 

ii.  India has direct democracy. 

iii.   India has adopted the 

proportional representation.   

iv.  India is founder member of U.N. 

 

(1)  i, iv, iii 

(2) i, iv 

(3) i, ii, iv 

(4) i, ii, iii 

  170. fuEufyf[kr esa ls dkSu&ls dFku lR;lR;lR;lR; gSa \ 
 

i.  Hkkjr /keZ fuisZ{k gSA 

ii.  Hkkjr esa izR;{k iztkrU= gSA 

iii.  Hkkjr esa vkuqikfrd izfrfuf/kRo iz.kkyh 
viukbZ xbZ gSA 

iv.  Hkkjr la;qDr jk"Vª dk laLFkkid lnL; 
gSA 

(1)  i, iv, iii 

(2) i, iv 

(3) i, ii, iv 

(4) i, ii, iii 

171. Which article is related with uniform 

civil code ? 

(1) Art. 44  

(2) Art. 45 

(3) Art. 14 

(4) Art. 370 

  
171. fuEu esa ls dkSu&lk vuqPNsn leku vkpkj 

lafgrk ls lEcfU/kr gS \ 

(1)  vuqPNsn 44 

(2)  vuqPNsn 45 

(3)  vuqPNsn 14 

(4)  vuqPNsn 370 

172. Choose the odd group from the 

following : 

(1) Lal, Bal, Pal 

(2) Weather, Climate, Environment   

(3) Heart, Kidney, Dengue 

(4) BJP, Congress, RJD 

  
172. fuEu esa ls ,d fo"kefo"kefo"kefo"ke ¼vthc½ lewg 

pqfu;s % 

(1)  yky] cky] iky 

(2)  ekSle] tyok;q] okrkoj.k 

(3)  ân;] xqnkZ] MsUxw 

(4)  ch-ts-ih-] dkaxzsl] vkj-ts-Mh- 
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173. I had booked a ticket in Rajdhani 

Superfast train. The train was 

delayed for long hours without any 

reason. In this situation : 

(1) I can not approach consumer 

court as train delays can happen 

sometime. 

(2) I can file a complaint in railway 

office as claim refund of ticket 

amount. 

(3) I can approach consumer court 

for deficiency  in service and 

claim refund of superfast charges 

as damage.  

(4) I can cancel my ticket without 

paying cancellation charges to 

railways. 

  
173. eSaus jkt/kkuh lqijQkLV jsyxkM+h esa ,d fVdV 

cqd djokbZ FkhA jsyxkM+h fcuk fdlh dkj.k ds 
dbZ ?k.Vs nsjh ls FkhA bl fLFkfr esa % 
 

(1)  eSa miHkksDrk vnkyr esa ugha tk ldrk 
D;ksafd dbZ ckj jsyxkM+h nsjh ls vkrh gSA 
 

(2)  eSa viuh fVdV dh /ku okilh ds fy, 
jsyos dk;kZy; eas f'kdk;r ntZ dj 
ldrk gw¡A 

(3)  eSa lsok esa deh ds fy, miHkksDrk 
vnkyr tk ldrk gw¡ vkSj uqdlku dh 
{kfriwfrZ gsrq lqijQkLV 'kqYd dh /ku 
okilh dk nkok dj ldrk gw¡A 

(4)  eSa jsyos dks jn~n djus dk 'kqYd fn, 
fcuk fVdV jn~n djok ldrk gw¡A 

174. Assume that national income of a 

country is Rs. 5,00,000 crore in any 

accounting year and they have 

received foreign aid of Rs. 1,000 crore 

in the year.  In this situation, 

national income of that country 

would : 

(1) Increase by Rs. 1,000 crore 

(2) Decrease by Rs. 1,000 crore 

(3) Remain same 

(4) Increase by half of the foreign aid 

  174. eku yhft, ,d ns'k dh fdlh ys[kk o"kZ eas 
jk"Vªh; vk; #0 5,00,000 djksM+ gS vkSj 
mls ml o"kZ 1,000 djksM+ #i, dh fons'kh 
lgk;rk izkIr gksrh gS rks ml ns'k dh jk"Vªh; 
vk; gksxh % 
 

(1) #0 1,000 djksM+ c<+ tk,xh 

(2) #0 1,000 djksM+ ?kV tk,xh 

(3) dksbZ ifjorZu ugha gksxk 

(4) fons'kh lgk;rk dh jkf'k dk vk/kk c<+ 
tk,xk 
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175. After implementation of GST in the 

country, a shopkeeper has given a 

work of their book-keeping/accounts, 

to my cousin. Such kind of activities 

can be included in : 

(1) Primary Sector 

(2) Secondary Sector 

(3) Tertiary Sector 

(4) GST Sector 

  175. ns'k esa oLrq ,oa lsok dj (GST) ykxw gksus 
ds ckn ,d nqdkunkj us viuh nqdku dk 
ys[kk dk;Z esjs Hkrhts dks ns fn;kA bl izdkj 
dh xfrfof/k dks 'kkfey fd;k tk,xk % 
 

(1) izkFkfed {ks= esa 

(2) f}rh;d {ks= esa 

(3) r`rh;d {ks= esa 

(4) oLrq ,oa lsok dj {ks= esa 

176. Match term of column 1 with 

column 2 : 

 Column 1  Column 2 

(a) Land (i) Engineer 

(b) Labour (ii) Mines 

(c) Capital  (iii) Machines 

(d) Money  (iv) Purchasing 

   Power 

(1) a - i, b - ii, c - iii, d - iv 

(2) a - ii, b - i, c - iii, d - iv 

(3) a - iv, b - ii, c - i, d - iii 

(4) a - iii , b - iv, c - i, d - ii 

  176. dkWye 1 dh enksa dk dkWye 2 ls feyku 
djsa % 

    dkdkdkdk WWWWye ye ye ye 1        dkdkdkdk WWWWye ye ye ye 2    

(a) Hkwfe (i) vfHk;Urk 

(b) Je (ii) [kkuas 

(c) iwath (iii) e'khuas 

(d) /ku  (iv) Ø; 'kfDr 
 

(1) a - i, b - ii, c - iii, d - iv 

(2) a - ii, b - i, c - iii, d - iv 

(3) a - iv, b - ii, c - i, d - iii 

(4) a - iii , b - iv, c - i, d - ii 

177. Why despite less calories 

requirement urban areas have a 

higher poverty line ? 

(1) because of higher prices of many 

essential commodities in urban 

areas 

(2) urban people eat more in hotels 

(3) causes of poverty are different in 

urban areas 

(4) urban people incur more medical 

expenses 

  177. 'kgjh {ks= esa de dSyksjh dh vko';drk ds 
ckotwn Å¡ph xjhch js[kk D;ksa j[kh tkrh gS \ 
 

(1) 'kgjh {ks= esa dbZ vko';d oLrqvksa dh 
dhersa Å¡ph gksuss ds dkj.k 

(2) 'kgjh yksx gksVyksa esa T;knk [kkrs gSa 

(3) 'kgjh {ks= esa xjhch ds vyx dkj.k gksrs 
gSa 

(4) 'kgjh yksx fpfdRlk ij T;knk [kpZ djrs 
gaS 



A ( 56 ) 

NTSE(Level-1) Exam. Nov. – 2017   

178. If a farmer works at his field of 5 acre 

and produces total 150 quintals of 

wheat in a year. His son grown up 

and joined the farming with his 

father . Which of the following shows 

the disguised unemployment, if : 

(1) production of wheat increase by 

50 quintals 

(2) production of wheat remain 

constant 

(3) production of wheat increase by 

20 quintals 

(4) production of wheat increase by 

100 quintal 

  178. ;fn ,d fdlku viuh 5 ,dM+ tehu ij 
[ksrh djrk gS vkSj og ,d  o"kZ esa 150 
fDoaVy xsgw¡ iSnk djrk gSA mldk yM+dk cM+k 
gksus ij og Hkh ml o"kZ vius firk ds lkFk 
[ksrh dk dk;Z djus yxrk gS fuEufyf[kr esa 
dkSu&lh fLFkfr fNih csjkstxkjh iznf'kZr djrh 
gS] ;fn % 

(1) xsg¡w dk mRiknu 50 fDoaVy c<+ tkrk gS 

(2) xsg¡w dk mRiknu igys ftruk gh jgrk gS 

(3) xsg¡w dk mRiknu 20 fDoaVy c<+ tkrk gS 

(4) xsg¡w dk mRiknu 100 fDoaVy c<+ tkrk 
gS 

179. Which one of the following statement 

is incorrect regarding commercial 

banking ? 

(1) It deals with money. It accepts 

deposits and advance loans. 

(2) It deals with credit and has 

power to create credit. 

(3) It deals with the general public. 

(4) It is not a Commercial 

Institutions whose aim is to earn 

profit. 

  179. okf.kT; cSadksa ds lEcU/k esa fuEufyf[kr esa ls 
dkSu&lk dFku lgh ughalgh ughalgh ughalgh ugha gS \ 
 

(1) ;g /ku lEcU/kh ysu&nsu djrs gSaA ;g 
tek Lohdkj djrs gSa vkSj _.k nsrs gaSA 

(2) ;g lk[k ds lkFk lkSnksa vkSj lk[k cukus 
dh 'kfDr j[krs gSaA 

(3) ;g vke tu ds lkFk ysu&nsu djrs gSaA 
(4) ;g okf.kT; laLFkk ugha gS ftudk mn~ns'; 

ykHk dekuk gSA 

180. Human Development Index compares 

countries based on which of the 

following levels of the people ?  

(i) Education level 

(ii) Pollution level 

(iii) Health Status 

(iv) Buildings 

(v) Per capita income 

(1) (i), (ii), (iii) 

(2) (i), (iii), (v) 

(3) (ii), (iv), (v) 

(4) (i), (ii), (v) 

  180. ekuo fodkl lwpdkad fofHkUu ns'kksa dks muds 
yksxksa ds fuEufyf[kr Lrjksa dh fdu&fdu 
vk/kkjksa ij rqyuk djrk gS \ 
(i) f'k{kk Lrj 
(ii) iznw"k.k Lrj 
(iii) LokLF; Lrj 
(iv) Hkou 
(v) izfr O;fDr vk; 
(1) (i), (ii), (iii) 

(2) (i), (iii), (v) 

(3) (ii), (iv), (v) 

(4) (i), (ii), (v) 
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181. A number when divided by 5, 3 and 2 

leaves remainders 4, 2 and 1 

respectively. Out of all three digit 

numbers, find the total such numbers : 

(1)  28 

(2)  29 

(3)  30 

(4)  31 

  181. fdlh la[;k dks 5, 3 vkSj 2 ls Hkkx nsus ij 
'ks"k Øe'k% 4, 2 vkSj 1 vkrs gSaA ,slh rhu 
vadksa dh la[;kvksa dh la[;k gS % 
 

(1)  28 

(2)  29 

(3)  30 

(4)  31 

182. If cosec θ – cot θ = p, then the value 

of 
1

1
2

2

+

−

p

p
is : 

(1) cos θ 

(2) – cos θ 

(3) sin θ 

(4) – sin θ 

  
182. ;fn cosec θ – cot θ = p gS] rks 

1

1
2

2

+

−

p

p  dk 

eku gS % 
 

(1) cos θ 

(2) – cos θ 

(3) sin θ 

(4) – sin θ 

183. If the sum of the first m terms of an 

A.P. is n and sum of its first n terms 

is m, then the sum of its first (m + n) 

terms is : 

(1) – (m + n) 

(2) m + n 

(3) – m + n 

(4) m – n 

  183. ;fn fdlh A.P. ds izFke m inksa dk ;ksx n 
gS rFkk mlds izFke n inksa dk ;ksx m gS] rks 
mlds izFke (m + n) inksa dk ;ksx gS % 
 

(1) – (m + n) 

(2) m + n 

(3) – m + n 

(4) m – n 

184. If quadratic equation x2 + px + k = 0 

has equal roots and –4 is a root of the 

quadratic equation x2 + px – 4 = 0, 

then the value of k is : 

(1) 
2

3
 (2) 

2

3−
 

(3) 
4

9−
 (4) 

4

9
 

  184. ;fn f}?kkr lehdj.k x2 + px + k = 0 
ds ewy cjkcj gSa rFkk f}?kkr lehdj.k x2 + 

px – 4 = 0 dk ,d ewy –4 gS] rks k dk 
eku gS % 

(1) 
2

3
 (2) 

2

3−
 

(3) 
4

9−
 (4) 

4

9
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185. A peacock sitting on the top of a tree 

observes a serpent on the ground 

making an angle of depression 30°. If 

the peacock with a speed of 300 m per 

minute catches the serpent in 12 

seconds, then the height of the tree is : 

(1) 30 m 

(2) 30 3 m 

(3) 
3

30
 m 

(4) 15 m 

  185. fdlh isM+ ds 'kh"kZ ij cSBk ,d eksj Hkwfe ij 
,d lkai dks 30° dk voueu dks.k cukrs 
gq, ns[krk gSA ;fn og eksj 300 eh0 izfr 
feuV dh pky ls ml lkai dks 12 lsd.M esa 
idM+ ysrk gS] rks isM+ dh Å¡pkbZ gS % 
 

(1) 30 eh0 

(2) 30 3  eh0 

(3) 
3

30
 eh0 

(4) 15 eh0 

186. a, b and c are the sides of a right 

angled triangle and a circle of radius 

r touches the sides of the triangle. If c 

is the hypotenuse of the triangle, 

then the value of r is : 

(1) 
3

cba ++
 

(2) 
3

cba −+
 

(3) 
2

cba ++
 

(4) 
2

cba −+
 

  186. a, b vkSj c fdlh ledks.k f=Hkqt dh Hkqtk,¡ 
gSa rFkk f=T;k r dk ,d oÙ̀k bl f=Hkqt dh 
Hkqtkvksa dks Li'kZ djrk gSA ;fn c bl o`Ùk dk 
d.kZ gS] rks r dk eku gS % 
 

(1) 
3

cba ++
 

(2) 
3

cba −+
 

(3) 
2

cba ++
 

(4) 
2

cba −+
 

187. If one zero of the quadratic 

polynomial ax2 + 15x + 6 is reciprocal 

of the other, then the zeros of the 

polynomial  are : 

(1) 2 and 
2

1
 

(2) –2 and 
2

1−
 

(3) 3 and 
3

1
 

(4) –3 and 
3

1−
 

  187. ;fn fdlh f}?kkr cgqin ax2 + 15x + 6 dk 
,d 'kwU;d nwljs dk O;qRØe gS] rks bl cgqin 
ds 'kwU; gSa % 
 

(1) 2 vkSj 
2

1
 

(2) –2 vkSj 
2

1−
 

(3) 3 vkSj 
3

1
 

(4) –3 vkSj 
3

1−
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188. The mean of certain number of 

observations is 46. If four observation 

whose mean is 52 are removed, the 

mean becomes 44.5. The original 

number of observation is : 

(1) 35 (2) 20 

(3) 15 (4) 12 

  188. dqN izs{k.kksa dk ek/; 46 gSA ;fn pkj izs{k.kksa 
ftudk ek/; 52 gS] dks gVk fn;k tk,] rks 
ek/; 44.5 gks tkrk gSA izs{k.kksa dh izkjafHkd 
la[;k gS % 
 

(1) 35 (2) 20 

(3) 15 (4) 12 

189. The area of a triangle with vertices 

(p, 2–2p), (1–p, 2p) and (–4–p, 6–2p) 

is 70 sq. units. Then, the numbers of 

possible integral values of p is : 

(1) 0 (2) 1 

(3) 2 (4) 3 

  189. 'kh"kksZa (p, 2–2p), (1–p, 2p) vkSj (–4–p, 6–2p) 
okys ,d f=Hkqt dk {ks=Qy 70 oxZ bdkbZ gSA 
rc] p ds laHkkfor iw.kk±dh; ekuksa dh la[;k 
gS % 

(1) 0 (2) 1 

(3) 2 (4) 3 

190. In a triangle ABC, points D and E are  

on sides AB and AC respectively such 

that BCED is trapezium. If AE : EC = 

3 : 2, then the ratio of area of ∆ADE 

and trapezium BCED is : 

(1) 9 : 16 

(2) 9 : 4 

(3) 9 : 25 

(4) 16 : 25 

  
190. fdlh f=Hkqt ABC esa] fcUnq D vkSj E  

Øe'k% Hkqtkvksa AB vkSj AC ij bl izdkj 
fLFkr gSa fd BCED ,d leyac gSA ;fn  
AE : EC = 3 : 2 gS] rks ∆ADE vkSj leyac  
BCED ds {ks=Qyksa dk vuqikr gS % 

(1) 9 : 16 

(2) 9 : 4 

(3) 9 : 25 

(4) 16 : 25 

191. The value of λ satisfying of the 

relation y = λx + 5, where x and y are 

the solution of pair of equations  

x + 2y = 10 and 3x + 4y = 360 is : 

(1) 
4

1
 

(2) 
4

1−
 

(3) 
2

1
 

(4) 
2

1−
 

  
191. laca/k y = λx + 5 dks larq"V djus okys λ dk 

eku] tgk¡ x vkSj y lehdj.kksa x + 2y = 10 
vkSj 3x + 4y = 360 ds ;qXe ds gy gSa] 
fuEufyf[kr gS % 

(1) 
4

1
 

(2) 
4

1−
 

(3) 
2

1
 

(4) 
2

1−
 



A ( 60 ) 

NTSE(Level-1) Exam. Nov. – 2017   

192. Three spheres of radii 6 cm, x cm and 

y cm are melted to form a single 

sphere of radius 12 cm. If xy is equal 

to 80, then the value of x + y is : 

(1) 21 (2) 18 

(3) 24 (4) 42 

  
192. f=T;kvksa 6 lseh, x lseh vkSj y lseh ds rhu 

xksyksa dks fi?kykdj f=T;k 12 lseh okyk ,d 
vdsyk xksyk cuk;k tkrk gSA ;fn xy dk eku 
80 ds cjkcj gS] rks x + y  dk eku gS % 

(1) 21 (2) 18 

(3) 24 (4) 42 

193. If cosθ + sinθ = p and secθ + cosecθ = V, 

then the value of V is : 

(1) 
12

2

−p

p
 

(2) 
2

12

p

p −
 

(3) 
1

2
2

−p

p
 

(4) 
p

p

2

12
−
 

  193. ;fn cosθ + sinθ = p gS vkSj secθ + 
cosecθ = V gS] rks V dk eku gS % 

(1) 
12

2

−p

p
 

(2) 
2

12

p

p −
 

(3) 
1

2
2

−p

p
 

(4) 
p

p

2

12
−
 

194. Angles A, B, C and D of a cyclic 

quadrilateral ABCD are in the ratio  

3 : 3 : 2 : 2 respectively. If AB = 5 cm, 

BC = 3.5 cm and CD = 8 cm, then the 

length of AD is  : 

(1) 5 cm (2) 3.5 cm 

(3) 8 cm (4) 4 cm 

  194. fdlh pØh; prqHkqZt ABCD ds dks.kksa A, B, 
C vkSj D dk vuqikr Øe'k% 3 : 3 : 2 : 2 
gSA ;fn AB = 5 cm, BC = 3.5 cm  vkSj 
CD = 8 cm gS] rks AD dh yackbZ gS % 
 

(1) 5 lseh (2) 3.5 lseh 

(3) 8 lseh (4) 4 lseh 

195. The median of certain observations 

17, 18, 23, 27, x – 3, x + 5, 45, 49, 74 

and 85, arranged in an ascending 

order is 35. Later on, it was found 

that one observation 72 was misread 

as 27 by mistake. The correct median 

of the data is  : 

(1) 36 (2) 38 

(3) 42 (4) 47 

  195. dqN izs{k.kksa 17, 18, 23, 27, x – 3, x + 5, 
45, 49, 74 vkSj 85 tks vkjksgh Øe esa 
O;ofLFkr gSa] dk ek/;d 35 gSA ckn esa] Kkr 
gqvk fd ,d izs{k.k 72 dks xyrh ls 27 i<+ 
fy;k x;k FkkA bu vk¡dM+ksa dk lgh ek/;d 
gS % 
 

(1) 36 (2) 38 

(3) 42 (4) 47 
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196. The sides of triangle are 61 cm, 54 cm 

and 35 cm respectively. The length of 

its longest altitude is  : 

(1) 10 5  cm 

(2) 16 5  cm 

(3) 24 5  cm 

(4) 28 5  cm 

  196. fdlh f=Hkqt dh Hkqtk,¡ Øe'k% 61 lseh] 
54 lseh vkSj 35 lseh  gSaA blds lcls yacs 
'kh"kZyac dh yackbZ gS % 

(1) 10 5  lseh 

(2) 16 5  lseh 

(3) 24 5  lseh 

(4) 28 5  lseh 

197. A bag contains two coins. One of 

them is a regular coin whereas the 

other has tails on both sides. From 

this bag, a coin is picked at random 

and tossed. Then, the probability of 

getting  a head is : 

(1) 0 (2) 
4

1
 

(3) 
2

1
 (4) 

4

3
 

  197. ,d FkSys esa nks flDds gSaA buesa ls ,d 
fu;fer flDdk gS] tcfd nwljs flDds ij 
nksuksa vksj ^iV* gSaA bl FkSys esa ls ,d flDdk 
;kn`fPNd :i ls fudky dj mNkyk tkrk gSA 
bl flDds ij fpr vkus dh izkf;drk gS % 
 

(1) 0 (2) 
4

1
 

(3) 
2

1
 (4) 

4

3  

198. a and b are roots of a quadratic 

equation x2 + 5x + d = 0, while a and c 

are the roots of the quadratic 

equation x2 + 6x + 2d = 0. If there is 

only one common root in the two 

equations, then value of d is : 

(1) –2 

(2)  –4 

(3) 2 

(4) 4 

  198. a vkSj b ,d f}?kkr lehdj.k x2 + 5x + d = 0 
ds ewy gSa] tcfd a vkSj c f}?kkr lehdj.k 
x2 + 6x + 2d = 0 ds ewy gSaA ;fn nksuksa 
lehdj.kksa esa dsoy ,d gh mHk;fu"B ewy gS 
rks d dk eku gS % 
 

(1) –2 

(2)  –4 

(3) 2 

(4) 4 

199. The mean, mode and the median of 

the observation 7,7,5,7 and x are the 

same. Then the observation x is : 

(1) 10 

(2) 9 

(3) 8 

(4) 7 

  199. izs{k.kksa 7,7,5,7 vkSj x ds ek/;] cgqyd vkSj 
ek/;d ,d gh gSaA rc] izs{k.k x gS % 
 

(1) 10 

(2) 9 

(3) 8 

(4) 7 
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200. ABC is a right angled triangle, right 

angled at B. If D and E are points on 

side AB such that AD = DE = EB, 

then the value of 
22

22

BCDC

ECAC

−

−
is : 

(1) 
1

3
 

(2) 
2

5
 

(3) 
4

9
 

(4) 
1

2
 

  200. ABC ,d ledks.k f=Hkqt gS] ftldk dks.k B 
ledks.k gSA ;fn Hkqtk AB ij fcanq D vkSj 
E bl izdkj fLFkr gS fd AD = DE = EB 

gS] rks 
22

22

BCDC

ECAC

−

−  dk eku gS % 

(1) 
1

3
 

(2) 
2

5
 

(3) 
4

9
 

(4) 
1

2
 

 



  

    

7. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys/uhys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd uhps 
fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  7. Answers   to  questions  in answer sheet are  to  be  given 
by darkening complete circle using Black/Blue ball point 
pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as 
given below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

8. jQ dk;Z ijh{kk iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh 
txg ij gh djsaA 

  8. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

9. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius 
mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd 
¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

  9. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

10. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr 
fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k 
dks gh iwjh rjg uhys@dkys ckWy IokbaV iSu ls HkjsaA 
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk 
ldrk gSA 

  10. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Blue/Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed to 

be changed. 

11. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, 
,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk 
vuqØekad mÙkj i=d esa fu/kkZfjr LFkku ds vfrfjDr vU;= u 
fy[ksaA 

  11. The candidates should ensure that the Answer Sheet is 

not folded. Do not make any stray marks on the Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

12. ijh{kk iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd 
fdlh Hkh ifjfLFkfr esa ¼dsoy ijh{kk iqfLrdk ,oa mÙkj i=d ds 
Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ nwljh ijh{kk iqfLrdk 
lSV miyC/k ugha djokbZ tk,xhA 

  12. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of Test 

Booklet will not be provided. 

13. ijh{kk iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh 
rjhds ls gkftjh i= esa fy[ksaA 

  13. The candidates will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

14. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds flok; fdlh 
izdkj dh ikB~;lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj 
dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

  14. Candidates are not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

15. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ 
¼jksy ua0½ fn[kk,¡A 

  15. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

16. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ 
vH;FkhZ viuk LFkku u NksMa+sA 

  16. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA   17. Use of Electronic/Manual Calculator is prohibited.  

18. fdlh gkyr esa ijh{kk iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx 
vyx u djsaA 

  18. No part of the Test Booklet and Answer Sheet shall be 

detached under any circumstances. 

19. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj 
i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
ijh{kk iqfLrdk dks ys tk ldrs gSaA 

  19. On completion of the test, the candidate must hand over 

the Answer Sheet to the Invigilator in the Room/Hall. 

The candidates are allowed to take away this Test 

Booklet with them. 

20. pwafd bl iz'u-i= ds rhuksa Hkkxksa ds fy, fu/kkZfjr le; lhfer 
gS] blfy, bldk vf/kdre lnqi;ksx dhft, vkSj fdlh iz'u 
ij cgqr le; u yxkb,A 

  20. Since the time allotted to the three parts of this question-

paper is very limited, you should make the best use of it 

by not spending too much time on any question. 
 

� � 
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